ICAR ABCO1

Topic:- ABCO1_Agriculture

1) Match List | with List Il

List | List Il
(Catalytic
cycle) (Action)

I. Binding of the substrate induces the
A. Step | enzyme to alter its shape, which fit more
tightly around the substrate.

Il. Enzyme releases products of the reaction
B. Step Il and the free enzyme is ready to bind to
another molecule of the substrate.

Il. Substrate binds to the active site of the

C. Step llI
P enzyme and fits into the active site.

IV. Active site of the enzyme in close
D. Step IV proximity of the substrate breaks the chemical
bonds of the substrate.

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde

et -1 e -1
SR et
I

A

A. TRUI|. AT DI ST TSIIZA DI U6l MDR DI Toclol D fore Yiea
| @I & SiI AR D aRI IR Af2D DD fibe BIar &

B. @rvui|ll. dsisa gfeifiprn & Icurct ol b 2l & AR Hb UelsdH
Il RICAT B g 3IU] DY ditrel B fore Fn= rar 3

C. @ruilll. Ireae Geirsa & Afp Arse A 31 3 iR Afga Az 3
L] e arar 3

D. =ruilV. Gsisa &I Al Arse ARIce DI formedr 3 ARIce D
IV RIARIfoID derall o drsdl &

offc feu oru frpedl 3 A 18 3R gfore :

[Question ID = 351][Question Description = 101_91_AGR_AUG22_Q01]
1. A-1,B-1,C-1IV,D-1l

[Option ID = 1401]
2. A-IV,B-1II,C-1I,D-I

[Option ID = 1402]
3. A-1L,B-1,C-1I,D-1IV

[Option ID = 1403]
4., A-UI,B-1,C-1IV,D-1I

[Option ID = 1404]



2) Read the following statements -

A. In prokaryotes, ribosomes are associated with the plasma membrane of the cell.

B. Ribosomes are made of 50S and 20S subunits which when present together form 70S prokaryotic ribosomes.
C. Ribosomes are the site of protein synthesis.

D. The ribosomes of a polysome translate the mRNA into proteins.

Choose the correct answer from the options given below:

forFerferRaa werell oY ug-

A. QidfRIc 3 rsdRila BT & s Biecll A I3 a3

B. rsdizia 508 siiz 20S Jayfore A dol 8ld & Sil v A1 fIrcrad: 70S Qi iEiee AsdiAA ol
C. I5aRIN GIciol ST BT FUcT &

D. ue diciAlar & rsdarier MRNA o« Qidler & ufrafeia wzd 8

offax fow s1e frepeul 3t 2 13t 372 9ol :

[Question ID = 352][Question Description = 102_91_AGR_AUG22_Q02]
1. A, BandConly
@act A, B sz C
[Option ID = 1405]
2. A, Cand D only
dac A, C sz D
[Option ID = 1406]
3. B, Cand D only
@®ac B, C sfiz D
[Option ID = 1407]
4. A, B and D only
dact A, B sie D

[Option ID = 1408]

3) Given below are two statements-
Statement I: The Double-helix structure of DNA is made of two polynucleotide chains, where the backbone is constituted by
sugar-phosphate, and the bases project inside.

Statement II: Eucaryotic DNA structure contains a set of negatively charged basic proteins called histones.

In light of the above statements, choose the correct answer from the options given below:

ofI<I 31 erel feu a1 3 :

Dol - | : Sluetu oY sacr-3ferat Hzae o1 ulclicifirerilerss 9f@esiia ol 3icl 3, STl dpdlol IPR-BIFbT TR IS BXdI 8, 3R I 362 YIeiac dd &
et - || : gBiwiee Siucte Faet 3 RIe JRIT sipRIcAT arst fbT 31T 3 YIdlel BT TP A BT &

IWRITD el B Il 3 FrarfeRaa fRracul 3 A A8l 3az gol :

[Question ID = 353][Question Description = 103_91_AGR_AUG22_Q03]
1. Both Statement | and Statement Il are true
@erol | a2 || Sl 18t &

[Option ID = 1409]
2. Both Statement | and Statement Il are false
@erot | 3liz || Seil st &

[Option ID = 1410]
3. Statement | is true but Statement Il is false
@erel | 31 3, fpoq @eret || stera 8 |

[Option ID = 1411]
4. Statement | is false but Statement Il is true
el | 31 AT &, fipog et |l 2t 8

[Option ID = 1412]



4) Which contrasting trait was studied in garden pea by Gregor Mendel for flower colour?
PR Fscl GRI el B 391 B fore dAce 3 a1 fudia g1l &1 sreRrIaT b=t s en?

[Question ID = 354][Question Description = 104_91_AGR_AUG22_Q04]
1. Green/ Yellow
& / diew

[Option ID = 1413]
2. Violet/ White
Joroft / g
[Option ID = 1414]
3. Yellow/ Green
dien / 3

[Option ID = 1415]
4. White/ Violet
AbG / Joroft

[Option ID = 1416]

5) Given below are two statements-
Statement I: Landraces and pure lines are examples of homogeneous population.
Statement Il: Composites and multilines are examples of heterogeneous population.

In light of the above statements, choose the correct answer from the options given below:

off<l Gl Derel fGu s 3 :

@eret - | @ 3ot genferit 3ii 9pgufensil FsidlRI SRR & 3¢1620T 3
@l - || : faifdya siiz sgufepal fawa sorize @ 3g18301

IWRfTD el B 3l 3 HEatfeiRad Riacul 3 A A8l 3az gl :

[Question ID = 355][Question Description = 105_91_AGR_AUG22_Q05]
1. Both Statement | and Statement Il are true
Dol | 3R || Sreil 3t &

[Option ID = 1417]
2. Both Statement | and Statement Il are false
@l | 3R || Slell sreta &

[Option ID = 1418]
3. Statement | is true but Statement Il is false
@l | A1 8, fpog el |l s1etr 3 |

[Option ID = 1419]
4. Statement | is false but Statement Il is true
et | a1 31 8, fpog werer | &t 8

[Option ID = 1420]
6) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Globulin proteins are insoluble in water but soluble in dilute salt solutions of strong acids and bases.
Reason R : Scleroproteins are soluble in all neutral solvents and in dilute alkalies and acids.

In light of the above statements, choose the correct answer from the options given below:

off< 31 perel fRu e 3 1 v bl sifdrperet (A) 3R g @l ao (R) @sl srim 8

sifdraperet (A) : selieyferer Qicior urofl 3 srgerorofict 21 & cifdpol ASIYT 313 3IIR $IR D A ol D el 3 Yetorofier 31 3
aas (R) : TaaRIqictor 21sft caezer gracsl 3 Jiz U g2 3l arwet 3 gerorofier 1A 3

IUWRITD DUl D 3MIclld 3 forgatifdpa faraveul 3 A 181 302 gol :

[Question ID = 356][Question Description = 106_91_AGR_AUG22_QO06]

1. Both A and R are true and R is the correct explanation of A
(A) stz (R) coll 31t 8 3iR (R), (A) & 348 =mezn

[Option ID = 1421]
2. Both A and R are true but R is NOT the correct explanation of A



(A) aiiz (R) el 21t & w2og (R), (A) b 3 e ot 8

[Option ID = 1422]
3. Ais true but R is false
(A) 3t 8 wog (R) &t o1l &

[Option ID = 1423]
4. Ais false but R is true
(A) & ol 3 weog (R) 2wt &

[Option ID = 1424]

7) Which of the following cellular function is associated with Biotin (Vit. H)?
forgsiferf¥aa 31 31 Dlor-31 BIIDRI BRI ariifea (freifder-ua) A J313?

[Question ID = 357][Question Description = 107_91_AGR_AUG22_Q07]
. Coenzyme in CO; fixation
CO; ReRiamur 3 drossa

1

[Option ID = 1425]
2. Coenzyme for amino acid conversion
3wflell 3@er FuiaRul & fore wrvssa

[Option ID = 1426]
3. Coenzyme for pyruvate metabolism
Us=dc TRV D fere dlesisa

[Option ID = 1427]
4. Part of dehydrogenase enzyme

fSBrsifSIolel Gsirsd @I 83
[Option ID = 1428]

8) Who reported first time the presence of ribosomes in plants?
diell 3 rsdRda &1 sufderfer &b el Adye fbol 1 ofi?

[Question ID = 358][Question Description = 108_91_AGR_AUG22_Q08]
1. Robinsen and Brown (1953)
3ifde3ter iz gr3ar (1953)

[Option ID = 1429]
2. Haguenau (1958)
BpEaI3 (1958)

[Option ID = 1430]
3. Palade (1953)
s (1953)

[Option ID = 1431]
4. Christain de Duve (1955)
fpzdat <t ge1a (1955)

[Option ID = 1432]
9) Given below are two statements-

Statement I: The smooth bacterial movement in a fixed direction mediated by the rotation of flagella in a clockwise
direction.

Statement II: The tumbling in bacterial movement is caused by the rotation of flagella in an anticlockwise direction.

In light of the above statements, choose the correct answer from the options given below:

offar S1 werol feu sre 3 :

et - | : forafer sfiarvy @Y v forfra o 3 a1fer welsten @ sfdomad fom 3 ggrer 21 At 3
et - || : Sftarrdiz cFafeier gadic werSien® ararad o 3 gyl © BRI 3T 3

WA Beil D 3l 3 forrfeiRaa el 3 3 w1l 3@z gol

[Question ID = 359][Question Description = 109_91_AGR_AUG22_Q09]
1. Both Statement | and Statement Il are true
el | 3z || el 23 &

[Option ID = 1433]



2. Both Statement | and Statement Il are false
weral | 32 |1 Slail ateta &

[Option ID = 1434]
3. Statement | is true but Statement Il is false
@l | A1 8, fpog el |l s1erd 3 |

[Option ID = 1435]
4. Statement | is false but Statement Il is true
el | 31 A &, fpog et |l a8t &

[Option ID = 1436]

10) Which component is absent in the cell wall of gram negative bacteria?

SJI3 SBUIICHD SHavsii &1 PIfdre1 fife 3 Blel-AT Ted sroqui¥erd alar 37

[Question ID = 360][Question Description = 110_91_AGR_AUG22_Q10]
1. Lipoprotein
csaIgIcion

[Option ID = 1437]
2. Lipopolysaccharide
cIsAiciAdIss
[Option ID = 1438]
3. Glycolipids
SCISPIfeTugT

[Option ID = 1439]
4. Phospholipid
BIRBIIS

[Option ID = 1440]

11) Given below are two statements-
Statement |I: BOD is a measure of the organic matter present in the water.

Statement Il: The greater the BOD of waste water, more is its polluting potential.

In light of the above statements, choose the correct answer from the options given below:

ofl<l Gl @erel Ry s 3 :

B - | : 13E) urehl 3 Hisg Brdfore ucrel o1 v IMUa 3

@t - |l : srufdree St ot st Sreei sifere Bt 3, 33DT yguur garar 3aeil 81 siferas Bl
IWRfTD Dereil B 3l 3 FEafeRad Rracul 3 A A8} 3a= gol :

[Question ID = 361][Question Description = 111_91_AGR_AUG22_Q11]
1. Both Statement | and Statement Il are true
@eral | 32 | Sl 8t &

[Option ID = 1441]
2. Both Statement | and Statement Il are false
@erot | 32 | Slail st &

[Option ID = 1442]

3. Statement | is true but Statement Il is false
el | e 8, fbog et | o1 & |

[Option ID = 1443]
4. Statement | is false but Statement Il is true
el | a1 A 3, fvog werer | 1 2

[Option ID = 1444]

12) Which light is most favourable for plant growth and development?
difl &1 gfig siiz fapr @ fére wlol AT Y191 AR 3IoIDe 37

[Question ID = 362][Question Description = 112_91_AGR_AUG22_Q12]
1. Blue
offerr



[Option ID = 1445]
2. Green
A

[Option ID = 1446]
3. Violet
ARICIE

[Option ID = 1447]
4. Red
et

[Option ID = 1448]

13) Match List | with List Il

List | List Il

Rice Optimum temperature
IA. Germination l. 20-25°C

B. Tillering 1l. 33°C

C. Panicle initiation 1. 31°C

D. Ripening IV. 20-35°C

Choose the correct answer from the options given below:

et | Y 5t 1l B arer AR 3

ot | et 11

ETol lsm drgdiol
A. sicszor l. 20-25°C
B. weror II. 33°C

C. ysuRpes airz#sior . 31°C

D. uewon IV. 20-35°C

i 3 a1e fraseul 3 A 7l 3a= gfore:

[Question ID = 363][Question Description = 113_91_AGR_AUG22_Q13]
A-1, B-II, C-lIl, D-IV [Option ID = 1449]
A-l, B-111, C-II, D-IV [Option ID = 1450]
A-IV, B-Il, C-lll, D-1 [Option ID = 1451]
A-1V, B-1ll, C-1l, D-I [Option ID = 1452]

A W N -

14) Where is ‘ICAR-National Bureau of Animal Genetic Resources’ situated?
TSIAITIR-ACERT U] TIAifIrd JTerel R wai e 3?7

[Question ID = 364][Question Description = 114_91_AGR_AUG22_Q14]
1. Agra
3Ie1R_T

[Option ID = 1453]
2. lzatnagar
SSOIAGPIR

[Option ID = 1454]
3. Karnal
oIt

[Option ID = 1455]
4. Mathura
FPRA
[Option ID = 1456]
15) Given below are two statements
Statement I: As per 20th Livestock Census, total livestock population is 536.76 billion in the country.

Statement II: As per 20t Livestock Census, the total number of cattle in the country is 193.46 billion.

In light of the above statements, choose the correct answer from the options given below

off<l 1 Berel fRu s 3 :
@t - | : 20T uQgEret SIVIGH @ MR, SOI 3 Wl Uelel I 536.76 faferer &



@t - |l : 20T a9IEret 31UT6IT @ JeIAIR SoI 31 antaoft ugrsii T @t Fiweam 193.46 faferier 3
IRt PBerell B el I foretferRaa faraseul 3 A 1) 3a= ot :

[Question ID = 365][Question Description = 115_91_AGR_AUG22_Q15]
1. Both Statement | and Statement Il are true
@eral | 32 || Sl 38t &

[Option ID = 1457]
2. Both Statement | and Statement Il are false
@erat | 32 || Slail st &

[Option ID = 1458]
3. Statement | is true but Statement Il is false
ol | A 3, fpog weret |l steta 2 |

[Option ID = 1459]
4. Statement | is false but Statement Il is true
el | a1 A 3, fvoq werer | 1 2

[Option ID = 1460]

16) Match List | with List Il

List | List Il

Crossbred Cattle Breeds used for crossing

IA. Frieswal |. Holstein Friesian and Tharparkar
B. Karanfries Il. Jersey and Non Descript Cattle
C. Karanswiss Il. Holstein Friesian and Sahiwal
D. Tailor IV. Brown Swiss and Sahiwal

Choose the correct answer from the options given below:

et -1 Y 3 -l A AT Bifdre :

Rredt -1 Rxeht -1l

Pl oft uorail &1 = orel Riee2vT 3q YT olvcl

A. wSisraret |. Brczrcior WGIfSRIor a eRuUR®m:
B. ®rBist 1. S=if T sraeffapa sndor

C. wvif¥aa . Brcaréiar WifSrret a Ardtare
D. e IV. groot Rt a ardlara

offa 3 a1e fraseul 3f 21 8l 3az giee :

[Questlon ID = 366][Questlon Description = 116_91_AGR_AUG22_Q16]
A-1IV,B-1Il, C- - 1l [Option ID = 1461]
A-1l,B-I,C- IV, D Il [Option ID = 1462]
A-11,B-1,C-1V,D-Ill [Option ID = 1463]
A-1,B-1V,C-1l,D-1[Option ID = 1464]

AWN—\

17) How much covered area of floor is required for cow?
SIRI @ fére wol @1 fbdoell GbT 31T &I MARAD 37?

[Question ID = 367][Question Description = 117_91_AGR_AUG22_Q17]
1. 3.5 m?
3. 542

[Option ID = 1465]
2. 7m?
7 2

[Option ID = 1466]
3. 10.5 m?
10.5 ait2

[Option ID = 1467]
4. 14 m?
14 302

[Option ID = 1468]

18) What is the pH of Good Quality silage?



38l SpuIadl drefl Arsclst @I Ul.gd. Arel fbdoi diar 37

[Question ID = 368][Question Description = 118_91_AGR_AUG22_Q18]
. 3.7 - 4.2 [Option ID = 1469]
. 4.2 - 4.5 [Option ID = 1470]
. 4.5 - 4.8 [Option ID = 1471]
. Higher than 4.8
4.8 3 siferd

AW N =

[Option ID = 1472]

19) Read the following statements
A. Cellulose is more complex and less soluble carbohydrate.

B. No known enzyme of large animals can digest cellulose.
C. Cellulose is broken down by microbial enzyme cellulase.
D. Cellulose has a very important role as nutrient in case of carnivorous animals.

Choose the correct answer from the options given below:

forraifeiRaa awpo ug

A. Ayt aiftras siRer stz wan gerorofier wralersde 3

B. &3 uQI3ii @1 I SIId USIISe AcYclist DI U 518l DI &

C. Acycilsl D) ASBIAACT Golrsa AcIelsl GRI AlST SIIdl 3

D. sriarerdt ugsil @ A3 3 diud ocd @ WU i Acgcilst B agd Ascaguf 1o aXdl 3
foreatferRaa faraseal 3t A 181 342 gol:

[Question ID = 369][Question Description = 119_91_AGR_AUG22_Q19]

1. A, BandConly
A, B 3z C daa

[Option ID = 1473]
2. A, Cand D only
A, C siiz D @aa

[Option ID = 1474]
3. B, Cand D only
B, C 3iiz D @aa

[Option ID = 1475]
4. A, BandD only
A, B 3iiz D daa

[Option ID = 1476]
20) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : About 250 adult birds per hectare can be reared in free range system of poultry housing.
Reason R : Free range system of poultry housing is less capital intensive.

In light of the above statements, choose the correct answer from the options given below

il Y werel fRu a1e 3 1 uas i sifdrperdt (A) iz g3 @ aw (R) sl srn 3

aifdrperet (A) : agadae AR &1 6 3T guiredl 3 gfer 3aer crerest 250 arras ufdril ol urell it Addr 3
s (R) : qgaase sard ot wl ¥o1 guincht oo goft archl st 3

IWR[TD Dol B Il 3 oot fravcul 3 A A8 3a= gol :

[Question ID = 370][Question Description = 120_91_AGR_AUG22_Q20]

1. Both A and R are true and R is the correct explanation of A
(A) 3z (R) clall 31t 2 3R (R), (A) &t 3 waren 3

[Option ID = 1477]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 3z (R) clail 31t 2 weag (R), (A) &t 38 areen ot 8

[Option ID = 1478]
3. Ais true but R is false



(A) & & wog (R) 8t o8l &

[Option ID = 1479]
4. Ais false but R is true
(A) & ol 3 weog (R) 21t &

[Option ID = 1480]

21) Given below are two statements
Statement I: Rickets and goiter are metabolic diseases.

Statement II: Milk fever and ketosis are deficiency diseases.

In light of the above statements, choose the correct answer from the options given below

off<l ol Derel fGu s 3 :

Dol - | : RDA 3iiz sliser U Adell a1 3

Dol - Il : goer Saz 3R BIAIA ogoldl ST AT

IWRfTD Dol B il 3 HratfeRad Riacul 3 A A8} 3az gol :

[Question ID = 371][Question Description = 121_91_AGR_AUG22_Q21]

1. Both Statement | and Statement Il are true
ool | 3R || Sreil 318t &

[Option ID = 1481]
2. Both Statement | and Statement Il are false
@l | 3R || Slall sreta &

[Option ID = 1482]
3. Statement | is true but Statement Il is false
@l | A 8, f[pog et |l s1er 3 |

[Option ID = 1483]
4. Statement | is false but Statement Il is true
el | o1 31 8, fpog werer | a8t 2

[Option ID = 1484]

22) Match List | with List I

List | List Il

Disease of Poultry Main Symptom

IA. New Castle Disease |. Paralysis of one leg
B. Gumboro Il. Raised skin lesions|
C. Marek’s Disease Ill. Greenish diarrhea
D. Fowl Pox IV. Pasty diarrhea

Choose the correct answer from the options given below:

it -l o1 gt -1l A Fafera Hifsre

Rret -l il

AR & o1 IR €T8I0T

IA. 53 d>eT AT |. eb O3 T ugmEra
B. sl Il. coren @ 33 gu a@
C. d¥aa a1 Il. 231 oz

D. Faff daw IV. RrafRrar g

ofia fRu s1e farscul 3 A 21d) 3a= gfore :

[Question ID = 372][Question Description = 122_91_AGR_AUG22_Q22]
A-1,B-1l,C-1Il, D- IV [Option ID = 1485]
A-1,B-1ll,C-1V,D- Il [Option ID = 1486]
A-1l,B-1V,C-1ll,D-1[Option ID = 1487]
A-1,B-1V,C-1,D- Il [Option ID = 1488]

A w N -

23) What is the name of the process of making Paneer?

Uoil? otrol a5 iR a1 Rl of1et 32



[Question ID = 373][Question Description = 123_91_AGR_AUG22_Q23]
1. Concentration

ATGGIDBIT

[Option ID = 1489]
2. Coagulation

ADGol

[Option ID = 1490]
3. Fermentation

fepudat

[Option ID = 1491]
4. Phase inversion of fat
QAT BT Wl Fodsiol

[Option ID = 1492]

24) Given below are two statements
Statement I: Progesterone hormone is secreted by ovary in animals.

Statement II: Estrogen hormone is secreted by Anterior Pituitary in animals.

In light of the above statements, choose the correct answer from the options given below

off<l Gl @erel fGu s 3 :

@l - | : a9psil 3 QIellel silel SIORI GIRI JIfAd BT &

@l - |l : a3l 3 wgiSlol swilel sEfadl AR sjfr GIRT fdra dlar 3

IWRfTD Dol B 3l 3 HEatfeRad Riacul o A A8l 3az gol :

[Question ID = 374][Question Description = 124_91_AGR_AUG22_Q24]

1. Both Statement | and Statement Il are true
Dol | 3R || Srell 318t &

[Option ID = 1493]
2. Both Statement | and Statement Il are false
@erot | 3z | Slail st &

[Option ID = 1494]
3. Statement | is true but Statement Il is false
el | 3T &, fopog et |l sreia 2 |

[Option ID = 1495]
4. Statement | is false but Statement Il is true
et | o1 31 8, fopog werer |l a8t 2

[Option ID = 1496]

25) Match List | with List Il

List | List Il

/Animals Breathing rate per minute|
IA. Cow .10

B. Buffalo 1. 8

C. Goat . 15

D. Horse IV. 25

Choose the correct answer from the options given below:

et - 1 et -l A e i ;

It -l il

[T9g gfer fdretc 2artot 52
A, TR 1.10

B. ofa1 1. 8

C. it Il. 15

D. =it IV. 25

ofia fou s1e facul 3 A 218l 3a= gfore :
[Question ID = 375][Question Description = 125_91_AGR_AUG22_Q25]



-1, B-1I, C-1ll, D - IV [Option ID = 1497]
<1, B-1Il, C- 1V, D - Il [Option ID = 1498]
<1, B-1Il, C-1V, D - | [Option ID = 1499]
-1, B-1V, C-1I, D - | [Option ID = 1500]

HwN e
> > > >

26) How much area was used for growing food-grain crops in India during 2020-217?

3 3 2020-21 @ SiIol FIeliool BAcl B IaIIal @ fo1g fbdol &X a1 SurileT fos=n s e ?

[Question ID = 376][Question Description = 126_91_AGR_AUG22_Q26]
1. 126 million hectares
126 fiferror 3wz

[Option ID = 1501]
2. 136 million hectares
136 fifeRIer 3acerR

[Option ID = 1502]
3. 129 million hectares
129 fifeRIer 3acR
[Option ID = 1503]
4. 132 million hectares
132 fiferIor 3acer

[Option ID = 1504]

27) Where is the ICAR- Indian Institute of Millets Research situated?

HID3IGIU-HIRCRI DGool 3IofAEII6l J¥ellol Dol f¥erd 37

[Question ID = 377][Question Description = 127_91_AGR_AUG22_Q27]
1. Bengaluru

dorcge

[Option ID = 1505]
2. Hyderabad

feaisic

[Option ID = 1506]
3. Jodhpur

Sherg

[Option ID = 1507]
4. Nagpur

SIPIYR

[Option ID = 1508]

28) Which is the most moisture stress sensitive growth stage of maize?
FTDT DI AR 31ferd o1l dolra Fdcarofier gl sraven wiar i 37

[Question ID = 378][Question Description = 128_91_AGR_AUG22_Q28]
1. Knee high stage
geoll 3T Al

[Option ID = 1509]
2. Tasseling stage

afeisr srazen

[Option ID = 1510]
3. Silking stage

Rifewmer srazen

[Option ID = 1511]
4. Milk stage

GeI 3[a3AT

[Option ID = 1512]

29) Given below are two statements
Statement I: Drip irrigation not only save water but also increase the crop yield from 20% to 100%.



Statement II: Even though, drip irrigation increases crop yield but it is not profitable as compared to sprinkler irrigation.

In light of the above statements, choose the most appropriate answer from the options given below

il G1 ol fou a1w 3:

ool |: fu Riaré 2 of dad urelt &1 gad skl 3 afew wae ot 3ust 20% 2 100% aw g Sircdl 3
ool lI: aa 8 u Riarg 3 wrer &1 Uerar aedl 3 ciftpol as Rymer Riard o1 detor 3 cmicRI® ordl &
SURITP DGl D 3Tl 3 o 3w s1e Rreveul 3i 21 Aaifire Suygm 32 &1 @RI Hifse

[Question ID = 379][Question Description = 129_91_AGR_AUG22_Q29]
1. Both Statement | and Statement Il are correct
@erol | 3l weret || Sl 3t 3

[Option ID = 1513]
2. Both Statement | and Statement Il are incorrect
el | 3z @werat | Sl sTetd 3

[Option ID = 1514]
3. Statement | is correct but Statement Il is incorrect
el | 38t 3 Aot werer || stete 3

[Option ID = 1515]
4. Statement | is incorrect but Statement Il is correct
el | ateta 2 cifcpor weret || 3 2

[Option ID = 1516]

30) How many micronutrients are essential for plants?
diell @ fére fepdol Jga Ulue dcd Ma9Au® 37

[Question ID = 380][Question Description = 130_91_AGR_AUG22_Q30]
9 [Option ID = 1517]

17 [Option ID = 1518]

8 [Option ID = 1519]

16 [Option ID = 1520]

A W N -

31) Match List | with List Il

List | List Il

IA. Azotobacter sp. |I. Anaerobic composting
B. Aspergillus awamori Il. Eisenia foetida

C. Night soil I1l. N-fixing bacteria

D. Vermicopost IV. P-solubilization

Choose the correct answer from the options given below:

arvfl | &t Al 1 3 ey

RIrRvfl I R2iyiglH

A. gelIdidac? g, |. srardR FG

B. gruRforerat srardlst Il. srs2Aform wiefest
C. a1 & At 1. N-fRrzior dardifser
D. affeidize IV. P-gerotoftere

i 3 a1e fraseul 3 A Wl 3= B ot

[Question ID = 381][Question Description = 131_91_AGR_AUG22_Q31]
. A-ll, B-1V, C-II, D-I [Option ID = 1521]
. A-l, B-lll, C-Il, D-IV [Option ID = 1522]
. A-lll, B-IV, C-1, D-II [Option ID = 1523]
. A-1V, B-1ll, C-Il, D-I [Option ID = 1524]

A W N -

32) Read the following statements
A. Adding organic matter to the soil increase its CEC.
B. Higher content of kaolinite in a soil increase CEC of the soil.

C. Mg, Mo, Cl and K are mobile nutrients.



D. Addition of FYM can increase C sequestration by soil.
E. Cultivated soils have more SOC than forest soils.

Choose the correct answer from the options given below:

forraiferRaa wereil ®f ug

A. 31l 31 ordfore ugrel fretrol 21 s CEC 96 Siren 3

B. RBrl 3 Daiiferonse o1 3a gy Brél @ CEC ol seredl 3
C. Mg, Mo, CI 3iiz K siferefier urae aca 3

D. FYM @1 fré1 3i s1etol 31 C-31f2e)gv1 a6 Adar 3

E. @adl il 3 ae1 Rrél &1 getonn 3 sif2ree SOC aler @
offa 3w s1e faacul 3 2 &l saz gfome:

[Question ID = 382][Question Description = 132_91_AGR_AUG22_Q32]
1. A, Band Conly
A, B 3iiz C daa

[Option ID = 1525]
2. A, Cand D only
A, C 3iiz D daa

[Option ID = 1526]
3. C,DandE only
C, D 3k E daar

[Option ID = 1527]
4. B, D and E only
B, D 3l E et

[Option ID = 1528]

33) How much pendimethalin (30 EC) is required for 5 ha area of soybean when rate of application of pendimethalin is 0.75 kg
a.i./ ha?

JArareiol @ 5 3aeR &g @ fere fpael tfswdferer (30 $=fl) o) smagadar axdl 3, sia UfSaenterel & 3ndeot o1 g3 0.75 Rpciiopa Afgy ducs / 3. 37?7

[Question ID = 383][Question Description = 133_91_AGR_AUG22_Q33]
1. 15.0 kg

15.0 Rociioger

[Option ID = 1529]
2. 12.5 kg

12.5 Rocliogat

[Option ID = 1530]
3. 5.0 kg

5.0 Rociiogar

[Option ID = 1531]
4. 10.0 kg

10.0 fpeisyer

[Option ID = 1532]

34) Match List | with List Il

List | List Il

Weed Scientific name

IA. Horse purslane |. Trianthema oleracea L.

B. Purslane Il. Eleusine indica L.

C. Pigeon grass Ill. Trianthema portulacastrum L.
D. Goosegrass IV. Paspalum sanguinale Lamk

Choose the correct answer from the options given below:

arvil | &t arvil |l 3 e

ol | ezinidl|
REIFUddarR dstifores sIrer




A, 3ff usicior |. fegdran siicreIim ver.

B. uzicret Il. wegafior $f3mr1 wer.

C. YR a1 Ill. feusdan didenrd>aca uel.
D. g1 IV. urructa JsIsolrcl ciamr

ofia 3 a1e faraseul 3 A wdl 3a= B got

[Question ID = 384][Question Description = 134_91_AGR_AUG22_Q34]
A-Ill, B-1, C-Il, D-IV [Option ID = 1533]
A-1, B-lll, C-1V, D-Il [Option ID = 1534]
A-lIl, B-1, C-1V, D-Il [Option ID = 1535]
A-1, B-lll, C-1l, D-IV [Option ID = 1536]

A W N -

35) What is the mean maximum temperature for grain development of wheat?
318 D cTol @ frprRI @ fere siiera siferevas arasiret o= 37

[Question ID = 385][Question Description = 135_91_AGR_AUG22_Q35]
1. 15°C
15 Roft ARe2RRA

[Option ID = 1537]
2. 20°C
20 Reft Afewer

[Option ID = 1538]
3. 25°C
25 f3aft AfeRRT

[Option ID = 1539]
4. 30°C
30 f3aft Afcrra

[Option ID = 1540]

36) Match List | with List Il

List | List Il

Crop Disease

/A. Rice I. Molya disease
B. Wheat Il. Polysora rust
C. Barley Ill. False smut

D. Maize IV. Loose smut

Choose the correct answer from the options given below:

It | oot gt 1l &5 aarer Jafera 3

Rreht | il

G3TeT RIsT

IA. et |. AYc=m a1
B. 318 11. grchiaier e
C. sit 1. wre1 331
D. #amr IV. dict Farc

ofia 3 a1e fraseul 3 A 7l 3a= gfere:

[Question ID = 386][Question Description = 136_91_AGR_AUG22_Q36]
A-lIl, B-1V, C-1, D-Il [Option ID = 1541]
A-1, B-lll, C-1V, D-Il [Option ID = 1542]
A-lIl, B-1V, C-II, D-I [Option ID = 1543]
A-1V, B-1ll, C-1l, D-I [Option ID = 1544]

A W N -

37) Read the following statements

A. Groundnut is determinate in growth and flowering.

B. Groundnut is a day neutral plant.

C. Aflatoxin of groundnut is a serious problem caused by Aspergillus flavus fungi.
D. Groundnut is a C3 plant.

E. Phosphorous is important for root and kernel development.



Choose the correct answer from the options given below:

forwotfe1Rad werll @1 ug

A. 3ottt gfi 3l wer smot 9 forerifya axcdt 3

B. Fiorwcil wa o1 acrer ulen 8

C. Jorwcll BT TrarcifeRicl TuRfBIerT Teia dwad @ PRI Bl drcll v sisfiz = &
D. 3orwett was C3 dienm 3

E. oRwRA 15 3k Bl @ fawra & fére sscagei

ofia 3w 1w faredl 3 A 7 Ia= gfome:

[Question ID = 387][Question Description = 137_91_AGR_AUG22_Q37]
1. A, B, Cand D only

A, B, C aie D daar

[Option ID = 1545]
2. A, C,DandE only

A, C, D aiie E daer

[Option ID = 1546]
3. B, C, DandE only

B, C, D 3ik E Paar

[Option ID = 1547]
4. A, B, D and E only

A, B, D 3iz E Paax
[Option ID = 1548]

38) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Boron application at flowering stage improve seed-set, filling per cent, test weight and yield.
Reason R: Boron is very important nutrient for pollen germination and pollen tube development.

In light of the above statements, choose the most appropriate answer from the options given below

SiI<I ST ol f¢u a1u 3: U oI 3Pl A 3R g1 I ®RUI R @ Wy Jf cidet o srm 3

sifdrperer A: Get 3ol <Y 3razen 3 dRiol Sof A dist-forerizur, sRIa yfeiord, &SIk Sloll @ dSidl 31 3usl 3 LR Il 3
®RUI R: WRET @ 3iq3vl 3R Uzl ofcfl @ R @ fére dikiol dgd Ascayyl ulud ded 3

JWRITD DIl D 3AIellD 3 oif fEu s1u fepedl 3 A Faifirs Suy SR ®I wRiel Hifsre

[Question ID = 388][Question Description = 138_91_AGR_AUG22_Q38]
1. Both A and R are correct and R is the correct explanation of A

A 3z R Sloif 31t 2 3iiz R, A &t 318 cameen aszar 8

[Option ID = 1549]
2. Both A and R are correct but R is NOT the correct explanation of A

A 3z R aleil 1t & cifcbor R, A &t 18t ceamecan ordt &

[Option ID = 1550]
3. Ais correct but R is not correct

A 31t & cifcor R 218 o1dl

[Option ID = 1551]
4. Ais not correct but R is correct

A 18 o1l & cifcpot R 218t &



[Option ID = 1552]

39) Given below are two statements
Statement I: Cabbage is fifth largest vegetable crop of India.
Statement II: Madhya Pradesh has the highest productivity of cabbage in India.

In light of the above statements, choose the most appropriate answer from the options given below

oflaI <1 aeped fou a1e &

g |: uareTisfl stre 3 eI SATT 3911 Sifol aredl Uil et BeT 3

aad |l: sz 3 uameisfl o1 Scarcwar #er ggor 3 ARl SAKT 3

SWRID Dol B oo 3 ofld 8T s1¢ fareudl 3 A A IV fAdea DI wRIet HIRY

[Question ID = 389][Question Description = 139_91_AGR_AUG22_Q39]
1. Both Statement | and Statement Il are correct
abee | 3l aopour | Seit & 1 &

[Option ID = 1553]
2. Both Statement | and Statement Il are incorrect
acbee | 3l acboer || Sleil &t arcta 3

[Option ID = 1554]
3. Statement | is correct but Statement Il is incorrect
aopoe | 218 8 Afdper acboe |l siera 2

[Option ID = 1555]
4. Statement | is incorrect but Statement Il is correct
acpoet | stetd 3 cifdbor acpoer |1 &t 2

[Option ID = 1556]

40) Althea rosea belongs to which family?
aiféerrr Afien e uf¥arz 3 Adfera 7

[Question ID = 390][Question Description = 140_91_AGR_AUG22_Q40]
1. Asteraceae
[eazeansiy

[Option ID = 1557]
2. Malvaceae
ettt

[Option ID = 1558]
3. Cruciferae
GRw3

[Option ID = 1559]
4. Amranthaceae
lezjertunli

[Option ID = 1560]
41) Given below are two statements
Statement I: Persian garden style and Japanese styles, both are based on their respective ideas of heaven.
Statement II: Persian and Japanese garden are of formal style.

In light of the above statements, choose the most appropriate answer from the options given below

offax <1 awpea fRu a1e &

g |: uredl ud Siureit a1l Sioll 31 Faef o1 fraReRT uR smenfed 3

g |l: uredl wd Siraredl sudet Sloll 1 siiuenfya efl & sn<el 3

SWRID Dol B HocH 3 ofld 6T 18 fareul 3 A AT IUATD fddeu DI RIet HIRY
[Question ID = 391][Question Description = 141_91_AGR_AUG22_Q41]



1. Both Statement | and Statement Il are correct
apodt | 3 aopeet | Slell & 3t &

[Option ID = 1561]
2. Both Statement | and Statement Il are incorrect
apodt | 3z aopet || Slell 8 atera &

[Option ID = 1562]
3. Statement | is correct but Statement Il is incorrect
aopodt | 1 8 difdpet acbor |l slcia

[Option ID = 1563]
4. Statement | is incorrect but Statement Il is correct
apodt | tetd 8 cifcbol acpoer |1 31t 2

[Option ID = 1564]

42) Match List | with List

List | List Il

\Variety Resistant/tolerant
IA. Swarna Pratibha |. Fusarium Wilt

B. Swarna Ajay Il. Aphid

C. Utkal Madhuri 1Il. Bacterial Wilt

D. Annamalai IV. Phomopsis Blight|

Choose the correct answer from the options given below:

3t | @1 37t 1 21 Rrerror HIfSR

e | et
Rowar gferieh | arsotofict
A. xauf g 1. Gaifr Riee

B. ¥avf ssrx Il. ofbs

C. scwa anegl I11. Sftaroy Femfor

D. sroolRrems IV. wraftreT scrse

ofid f&u a1 farascul 3 A1 TSl faascu o1 TRIol B3I ©

[Question ID = 392][Question Description = 142_91_AGR_AUG22_Q42]
A-1Il,B-1V,C-1,D-Ill [Option ID = 1565]
A-1,B-1V,C-1l,D-1[Option ID = 1566]
A-Il,B-1,C-1V,D - Il [Option ID = 1567]
A-1lll,B-1V,C-1,D- Il [Option ID = 1568]

A W N -

43) Read following statements:

A. Pithiness in radish is more common in summer crop.
B. Pithiness in radish is more common in autumn crop.
C. Soaking of radish seed in NAA stimulate germination.
D. Radish is short duration and fast growing crop.

Choose the correct answer from the options given below having true statement:

forserferRad wereil @Y ufgu:

A. et 31 fferor s1aff o1 werer 3 aifere Biedl 3

B. 3¢t 3 Rufiror sifcar ot waa 3 siferas arcll 3

C. 3¢t o disil @Y NAA 3 firial 3 siqgor cafda atar 3

D. gcft oo sraf?r wd diiq gl archt wara &

ofia 3w s1e faracul 3 21 A8 Dl aret faou T aRIor w2

[Question ID = 393][Question Description = 143_91_AGR_AUG22_Q43]
1. A, Cand D only



@ac A, C 3l D

[Option ID = 1569]
2. A, BandConly
@dact A, B 3z C

[Option ID = 1570]
3. B, Cand D only
@dact B, C sfiz D

[Option ID = 1571]
4. A, B and D only
dact A, B sie D

[Option ID = 1572]

44) Which of the following is cause of greening disease of citrus?
AISH D fifoisT 8T DI BT Dot AT 3?

[Question ID = 394][Question Description = 144_91_AGR_AUG22_Q44]

1. Fungi
TAD

[Option ID = 1573]
2. Bacteria

Sftary

[Option ID = 1574]
3. Virus
ARIZA

[Option ID = 1575]
4. High Temperature
3cd dIgdiol

[Option ID = 1576]

45) Given below are two statements
Statement I: Arka Anmol is regular bearing mango cultivar and is free from spongy tissue.

Statement II: Arka Aruna is a selection from exotic mango cultivar.

In light of the above statements, choose the most appropriate answer from the options given below

ofi<l €1 aepod o a1g 3

aope |: 3rapt srotaitet 33t o1 forafdra wetot arcil wd Fusht 3d@ 2 A fpza 3

awpad |I: srt srson fageft fepwar 3 aafora fovar &

SWRAIRD Dol B HocH 3 ofld 6T 18 feardeul 3 A AT IUATD fddeu BI RIot BRI

[Question ID = 395][Question Description = 145_91_AGR_AUG22_Q45]
1. Both Statement | and Statement Il are correct
aooed | 3R aope || et & a8t &

[Option ID = 1577]
2. Both Statement | and Statement Il are incorrect
aepodt | 3z apeer || Slott & atera &

[Option ID = 1578]
3. Statement | is correct but Statement Il is incorrect
aopoat | 218 8 difdpar acboe |l srera

[Option ID = 1579]
4. Statement | is incorrect but Statement Il is correct
qcpodt | sTetd 8 cifdbol acpoer |1 &t 2

[Option ID = 1580]

46) Match List | with List Il

List | List Il

Root stock Features

A. Rough Lemon I. Susceptible to tristeza



B. Sour Orange Il. Resistant to quick decline|

C. Rangpur Lime Ill. Resistant to gummosis

D. Sweet Orange IV. Have poor germination

Choose the correct answer from the options given below:

25t | o1 25t 1l 3 Rreror HIRRL

x| R eiflll

et goet fFergrerar

A. 3B el |. Eizesn A Fdgerofier

B. eI dAaer Il. frae Saarda A gfereEeh
C. BIYR crsa Ill. sraif3rr A gferieh

D. <dic sifdst IV. @a i@z gferora

ofld feu s1u fadscul 3 A A} facu o1 TRIoT B3I &

[Question ID = 396][Question Description = 146_91_AGR_AUG22_Q46]
1. A-1,B-Iv,C-1l,D-1lI
[Option ID = 1581]
2. A-I,B-IV,C-1lll,D-1l
[Option ID = 1582]
3. A-llLB-1,C-1V,D-1I
[Option ID = 1583]
4. A-1I,B-1,C-1l,D-1IV

[Option ID = 1584]

47) How many groups of varieties of gladiolus classified by The North American Gladiolus Council?

I3l 3Eif¥ehl seidisiicreT uftss of scisisilerza ol fepl o) fpdol gl 3 aefiaga fpam 37

[Question ID = 397][Question Description = 147_91_AGR_AUG22_Q47]
4 [Option ID = 1585]
5 [Option ID = 1586]
6 [Option ID = 1587]
7 [Option ID = 1588]

A W N -

48) Given below are two statements
Statement I: Ornamental crops accounts for about 75 percent global micro propagation industry.
Statement Il: Micro propagation in vegetable crops is uneconomical for most of the crops.

In light of the above statements, choose the most appropriate answer from the options given below

ofid &1 awpeu RRu sre &

a1 |: g yaelst @1 75 gferora dffam Jeist Asmadt ulel ot 3

aope |1 afdsrit 3 Jga yathor siftrpar wacl @ fore snffe wu A ancrRI® ol 3
JWRITD Bl D Aocs 3 ofld) U s1u frapeul 3 I AR IuYT frpea o1 aRIel BIR

[Question ID = 398][Question Description = 148_91_AGR_AUG22_Q48]
1. Both Statement | and Statement Il are correct

acpoet | 3z apee || Sloll & 3@ &

[Option ID = 1589]
2. Both Statement | and Statement Il are incorrect



aopodt | 3z aopeet || Slell & atera &

[Option ID = 1590]
3. Statement | is correct but Statement Il is incorrect

aopodt | 218 8 difdpat acboe |l srera

[Option ID = 1591]
4. Statement | is incorrect but Statement Il is correct

acpodt | sTetd 3 cifdbor acpoer |1 21&t 2

[Option ID = 1592]

49) Given below are two statements
Statement I: In jam making, pectin is the most essential constituent.

Statement Il: Pectin is present in the cell walls of fruits.

In light of the above statements, choose the most appropriate answer from the options given below

offa 3) awpea oy a1w &

geped |: Siat goltol @ fore Uftreet 31fer smaodre Joree &

e |I: Ofdreet weil o1 wifdraT firfe 3 Sufdera tar 3

SWRITD D6l B Ao I il 6w 31w fraseul 31 3 AT IuPeD frweu BT wRI6T HIRRY

[Question ID = 399][Question Description = 149_91_AGR_AUG22_Q49]
1. Both Statement | and Statement Il are correct
acpodt | 3 aopeet | Slell & 3t &

[Option ID = 1593]
2. Both Statement | and Statement Il are incorrect
aepet | 3iiz acpe || Glel & stera &

[Option ID = 1594]
3. Statement | is correct but Statement Il is incorrect
aopet | 218 8 Afdsar awpoe |l srera 2

[Option ID = 1595]
4. Statement | is incorrect but Statement Il is correct
acpoet | stete 8 cifcbol acpoer |1 318t 2

[Option ID = 1596]

50) Given below are two statements
Statement I: Ripening in fruits can be retarded by low temperature.

Statement II: Ripening of fruits can be achieved by ethylene.

In light of the above statements, choose the most appropriate answer from the options given below

ofi<l Q) aepo o a1g 3

g |: well 3 uaeddel Bl H Arure! A AT Sl ADl

g |I: $efictior 1 well &) UBRI ST Addl 3

SWRID Dol B oo i ford 3w s1u ferpedl IRY A U fadeu o1 wRiel HIRY

[Question ID = 400][Question Description = 150_91_AGR_AUG22_Q50]
1. Both Statement | and Statement Il are correct
aobee | 3l acpoer || St & i &

[Option ID = 1597]
2. Both Statement | and Statement Il are incorrect
acbee | 32 acboer || Seil &t act &

[Option ID = 1598]
3. Statement | is correct but Statement Il is incorrect
aopoe | 218 8 Afdsor acboe |l siera

[Option ID = 1599]
4. Statement | is incorrect but Statement Il is correct
acpeet | stetd 3 difdbor acpoer |1 &t



[Option ID = 1600]

Topic:- ABCO1_Biology

1) Species are considered as
YSIferRI aroft St 3

[Question ID = 401][Question Description = 101_39_BIO_AUG22_Q01]
1. hypothetical units of classification devised by taxonomists.

TaAleiifcl grI AR asffaur &t smirtlr somar

[Option ID = 1601]
2. real basic unit of classification.

effarzur Bt arrafda et sors

[Option ID = 1602]
3. artificial concept of human mind which can not be defined in absolute term.

lold AR bl et sr@emrvn, BRI yul srafer 3 uf¥enfld ol fiper S Amar

[Option ID = 1603]
4. local names of organisms.

Sftdl @ Jerefier oot
[Option ID = 1604]

2) Gambusia is a
Sigidrn o -
[Question ID = 402][Question Description = 102_39_BIO_AUG22_Q02]
1. pest of fishes
Joferll @ disad
[Option ID = 1605]
2. parasitic fish

usfidt st

[Option ID = 1606]
3. predator of mosquito larvae

12 ciral o1 formrst

[Option ID = 1607]
4. that transimits yellow fever mosquito

2 ORID grI diel garR Berar 8
[Option ID = 1608]

3) Match List | with List I

List | List Il

A. Lactobacillus I. Baking industry

B. Saccharomyces cerevisiae |ll. Production of Citric Acid

C. Propinibacterium shermaniiflll. Production of curd from milk

D. Aspergillus niger IV. Production of cheese

Choose the correct answer from the options given below:

It | & amrer gt || aifera &ifsme ¢

et | et I
A. Ao azficr I. afsor 3ehor

B. Ji@2larsRI FRfalRrn Il. asfie® of¥ts @1 Icurgar




C. Qiftelidadifsar 9rarcit Ill. g&r 3 cél @1 Seurgor
D. Trufdfera1 airzorr IV. uoflz @1 3curcot
il fou a1e fraseul 3 A &) SraE gol ©

[Question ID = 403][Question Description = 103_39_BIO_AUG22_Q03]
1. A-ll,B-ll,C-lI,D-IV

[Option ID = 1609]
2. A-IV,B-lll,C-lIl,D-l

[Option ID = 1610]
3. A-ll,B-I,C-IV,D-ll

[Option ID = 1611]
4. A-IV,B-l,C-Il,D-l

[Option ID = 1612]

4) Select correct combinations which differentiate conventional breeding from genetic engineering
A. works by process of selection

B. permits the movement of genetic material between different varieties with in species

C. product emphasizes new characters

D. process occurs in nature

E. allows the movement of genetic material from one organism to other organisms

Choose the correct answer from the options given below:

3Mioaifdres SSiforIf¥er A URUR® Ysiolol B 3IcIoT ol arcl AS! STl ol -
A. =161 gfdgn gRI oRrRI wer 3

B. uep sufer ol firoor fpedll & dia sieqaifdre AERH &t sl wren

C. Scurg o1 Uil Uz ik gar @

D. gfegem yapfer 3 3iedt 3
E. v sila A1 g Sfia 3 siodifdre ARE[ ©f snarsidl & siopaf ar g
il fou o1 fepeul A S gol::

[Question ID = 404][Question Description = 104_39_BIO_AUG22_Q04]
1. A, BandD only
A, B 3z D daer

[Option ID = 1613]
2. BandD only

B iz D @aer

[Option ID = 1614]
3. B, Cand E only

B, C 3iiz E daax

[Option ID = 1615]
4. A, B and E only

A, B 3iiz E &aa
[Option ID = 1616]

5) Given below are two statements
Statement I: Vaccine production includes the use of weakend pathogen to stimulate the immune system of an organism.

Statement Il: Vaccine production is the introduction of any gene encoding immunogenic protein and expression in
mammalian cells using recombinent DNA technology.

In light of the above statements, choose the most appropriate answer from the options given below



offx 31 awpo 3w a1g 3
awe | - aflor Scurgar A v Sfia &t gferen gurclt @t 3ARIA w2l & o1 wasiz AsTeleldd BT IURIET 9NfdicT 3 |

g || - daiiel Icurcet o=l it Sfiel weIfSsT gferRgirsiea Qiéior &l 9Re31d 3ii? Yol: IRIISID S1uolt GieNfBrbl oI IURIISI B2 FeIoieIt
D13l 3 Sfdrcafts 3
IRftb awberil @ 3l 3 fowotfpa el 3 A 31 3a= gol &

[Question ID = 405][Question Description = 105_39_BIO_AUG22_Q05]
1. Both Statement | and Statement Il are correct

acpodt | 3z aopeet | Slell & 3 &

[Option ID = 1617]
2. Both Statement | and Statement Il are incorrect

aopoet | 3z aopeer || Slolt & arera &

[Option ID = 1618]
3. Statement | is correct but Statement Il is incorrect

aopoe | A& 8 Afdper acboe |l siera 2

[Option ID = 1619]
4. Statement | is incorrect but Statement Il is correct

acbee | arerd 2 Afdsor awbeer || 20t 8

[Option ID = 1620]

6) Which of the following is characterised by endoskeleton consisting of ossicles, a hard plate of Magnesium Carbonate and
Calcium Carbonate crystal?

forgotferf3ae 3 3 Blol AT A BDIcT IHoNTIRII Drdiolc 3R DicorII Pdrdioic fipzee b Ud IS e A Toll T 37

[Question ID = 406][Question Description = 106_39_BIO_AUG22_Q06]
1. Arthropods

3ifearg

[Option ID = 1621]
2. Echinoderms

ofdpaitsat

[Option ID = 1622]
3. Sponges

st
[Option ID = 1623]
4. Coelenterates

Riclogeaa
[Option ID = 1624]

7) Which of the following DOES NOT belong to kingdom Protista?
forgotferRae 3 A ol AT SPIA QferFdr oI o8l 37
[Question ID = 407][Question Description = 107_39_BIO_AUG22_Q07]

1. Amoeba

wallar

[Option ID = 1625]
2. Slime moulds

ez Hics

[Option ID = 1626]
3. Dinoflagelates

SRIGNUCIBICICA

[Option ID = 1627]
4. Mycoplasma

FHSDITCISH
[Option ID = 1628]



8) The Immunoglobulin present in the mother's milk is
i D g2 I Algle sRIclocgferT 3
[Question ID = 408][Question Description = 108_39_BIO_AUG22_Q08]
1. Ig M
aSsh war

[Option ID = 1629]
2. 1gD

3ot st

[Option ID = 1630]
3. Ig A

3$si-u

[Option ID = 1631]
4. 1gE

amssit-§
[Option ID = 1632]

9) Which property of water molecules enables it to function as a moderator of temperature for living organisms?
urofl @ 3[ULsil @I Blol AT VT 33 Sifda Sfial & fere AMaser @ Briqe @& wu I PRI ol 3 A8 Folrar 3?7

[Question ID = 409][Question Description = 109_39_BIO_AUG22_Q09]
1. High specific heat

3ca fafore st

[Option ID = 1633]
2. High heat of vaporization

amiasur &t 3ca st

[Option ID = 1634]
3. Low surface tension

forot Al otra

[Option ID = 1635]
4. High cohesion

I ISTol

[Option ID = 1636]

10) Select the group of organisms belonging to the same phylum
e & oA A Adf2a sfidl & A31E BT R BI

[Question ID = 410][Question Description = 110_39_BIO_AUG22_Q10]
1. Sea anemone, Sea pen, Sea fan

it woflellel, i Uor, i Bot

[Option ID = 1637]
2. Sea mouse, Sea urchin, Sea anemone

3ft s, 2Rt sifefor, 2ft woflellor

[Option ID = 1638]
3. Jelly fish, Cuttle fish, Silver fish

Steft fibor, @eet fibor, Rreaz fibor

[Option ID = 1639]
4. Devil fish, Star fish, Silver fish

3fder fbor, e fiber, Ricaz fiber
[Option ID = 1640]

11) Which one of the following pair is NOT correctly matched?
forgot 3t 31 Dlol AT SIS AL GoI A el I8l Wrr?



[Question ID = 411][Question Description = 111_39_BIO_AUG22_Q11]

1. Vitamin B12---------- Pernicious anemia
fderdror dt 12---------- AATOID ColfdrRIr
[Option ID = 1641]

2. Vitamin B6---------- Convulsions
derfdror di6----------- 911 ol Tl
[Option ID = 1642]

3. Vitamin B1--------------- Beriberi
fArerférer aftt---------------- -3
[Option ID = 1643]

4. Vitamin B2------------- Pellagra
frerforer oft 2------------- eI

[Option ID = 1644]

12) A toxic insecticidal protein produced by Bacillus thuringienses kills certain insects but do not kill the bacteria
themselves because

o faurp dlconore Qiélet st dR1erRT YRPIEsT 3R B bl ol Ard 3 | cifdbal Jadiixn @l ¥ari W oidl @ 3 aiife

[Question ID = 412][Question Description = 112_39_BIO_AUG22_Q12]
1. Protein enclosed in special sac

faory et 37 Jictool Yictor

[Option ID = 1645]
2. Protein is immature in denatured form

Qicter forfeapet srazerr 3

[Option ID = 1646]
3. Protein exist in Protoxin form

Qicter QicifRTer srazer 3

[Option ID = 1647]
4. Bacteria ressistant to the protein

ictor @ e At gRRted
[Option ID = 1648]

13) All living organism exhibits

A. Dynamic state

B. Regulatory mechanism

C. Exchange of matter

D. No equilibrium between anabolic and catabolic reactions
E. Steady state

Choose the correct answer from the options given below

213t siifra ypoft yefdfa o &

A. siicrefier sraven

B. faformar® dq

C. ARE @I Ge-yglol

D. werdEifere ik derdlfcra @ sk Jdciol ofdl
E. Rer sraven

sifa féu o1e fameul A SIa gol

[Question ID = 413][Question Description = 113_39_BIO_AUG22_Q13]
1. A, B, & Conly



A, B, 3z C dact

[Option ID = 1649]
2. A,C&Eonly

A, C aiie E daer

[Option ID = 1650]
3. B,C&Eonly

B, C 3iiz E daax

[Option ID = 1651]
4. C,D & E only

C, D 3z E ddaar
[Option ID = 1652]

14) “Early oceans were a solution of organic molecules, a primitive soup, from which life arose”, hypothesis was proposed
by
"311R381 3 MG Preiford AUl DI Al T, fSRT greiiol U A Siidel @I Igd g3 Rigia @I yfaurcd fordel GRI v sRir -

[Question ID = 414][Question Description = 114_39_BIO_AUG22_Q14]
1. S. W. Fox

WA, Soc?], BidA

[Option ID = 1653]
2. Spallanzani

JUcTistioft
[Option ID = 1654]
3. Melwin Calvin

drerfder dfedor

[Option ID = 1655]
4. Haldane

&cisol
[Option ID = 1656]

15) Evolution of group of animals in different directions is -
faféroor fEomail 3f ugrasii @ e @I Ry -

[Question ID = 415][Question Description = 115_39_BIO_AUG22_Q15]
1. Convergence

3if3RIzur

[Option ID = 1657]
2. Parallel Evolution

MR fpRI
[Option ID = 1658]
3. Adaptive Evolution

3ojcett fdraprt

[Option ID = 1659]
4. Progressive Evolution

yerferofiet famra
[Option ID = 1660]

16) Match List | with List Il

List | List Il

A. Origin of mammals |. Paleozoic

B. Age of prokaryotic microbes Il. Triassic period
C. C-First tetrapods appearance Ill. Devonian period




D. Appearnce of bipedal human ancestors|lV. Eocene

V. Pliocene

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ot -1 et -1l
A. Feorentil &t scafer |. Gfericlze
B. qidbfiifed Jmosiiar @1 i 1. gl smafir
C. uscl aquic @I 3ga lll. 3aiforrer smafer
D. gdsil 3 fxure srazen IV. sariler

V. ucmrirfler

oflax 3w o1 el 3 A At IR gfom :

[Question ID = 416][Question Description = 116_39_BIO_AUG22_Q16]
1. A-I,B-V,C-1ll,D-1I

[Option ID = 1661]
2. A-1l,B-1,C-1I,D-V

[Option ID = 1662]
3. A-IV,B-V,C-1l,D-I

[Option ID = 1663]
4. A-1,B-1,C-V,D-1IV

[Option ID = 1664]
17) Arrange the PERIODS of geological time scale in ascending order (starting oldest one)
A. Devonian
B. Triassic
C. Jurassic
D. Silurian
E. Ordovician

Choose the correct answer from the options given below

- AsiIfola> A UdHIol DI 3rafds ol RIE a1 3 caaf¥erd ol (AR Yrrell srafr A 9 wel)
A. Raforror

B. el

C. R

D. Rrcyfearor

E. srsifaRrer

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 417][Question Description = 117_39_BIO_AUG22_Q17]

1. E>D>A>B>C

[Option ID = 1665]
2.B>A>C>D>E

[Option ID = 1666]
3.C>B>A>D>E

[Option ID = 1667]
4. E> A>B>D>C

[Option ID = 1668]



18) Select the connecting link between chordates and non-chordates -
@3¢ 3R olfcl-®iSc D dia Poifdcsl feids o1 aRIol B3 -
[Question ID = 418][Question Description = 118_39_BIO_AUG22_Q18]
1. Peripatus

Quen

[Option ID = 1669]
2. Sphenodon

JWollsal

[Option ID = 1670]
3. Balanoglossus

detrolloctlart

[Option ID = 1671]
4. Archaeopteryx

iR dat
[Option ID = 1672]

19) Select the homologous organ/s from the list-
A. Bat's wing

B. Cat's paw

C. Butterfly wings

D. Lizard's tail

E. Wisdom tooth

Choose the correct answer from the options given below:

3t 3 3 FARAU 3031 ol
A. TEENGS &I UM
B. fireedt bl ds
C. fracht @ da
D. fsaocil &1 gy
E. srawmct o5
offa feu sru faredl A Starg gol:::
[Question ID = 419][Question Description = 119_39_BIO_AUG22_Q19]
1. Aand B only
A 3liz B ddet

[Option ID = 1673]
2. A, DandE only

A, D siiz E daa

[Option ID = 1674]
3. A, B, Cand D only

A, B, C 3k D &ae

[Option ID = 1675]
4. B, D and E only

B, D aen E dacr
[Option ID = 1676]

20) Thorns of Bougainvillea and tendril of Passiflora are



[Question ID = 420][Question Description = 120_39_BIO_AUG22_Q20]

1. Analogous organs

31QJ37UAI 3iST

[Option ID = 1677]
2. Homologous organs

BIAICIeRI 3ieT

[Option ID = 1678]
3. Vestigeal organs

sradidt sist

[Option ID = 1679]
4. Endamic organs

Fefold 3ioT

[Option ID = 1680]

21) Fungi

A. Sacharomyces cerevisiae is used in baking and brewing industry
B. All have saprophytic mode of nutrition

C. Possess chlorophyll which may be masked by other pigments

D. The hyphal wall consists of cellulose (chitin)

E. Common mushrooms are fungi

Choose the correct answer from the options given below:

DAD

A. Sacharomyces cerevisiae @1 3uRileT Aféper 3iiz ggor 3eier 3 fpa sar &
B. 213t 3f ulwur bt FAISI e St 8

C. aaRiftser 3iar & SR 31631 ISIDI GRI fSurR s JAddar

D. srsuc dtar @ Acycirst (fifeor) diar &

E. 3me1 A9RsdH Dad &

offa fou s1u fyeseul 3 2 & 3a= gfero:

[Question ID = 421][Question Description = 121_39_BIO_AUG22_Q21]
1. A, Band D only

A, B 3iz D daa

[Option ID = 1681]
2. A, CandE only

A, C 3k E daer

[Option ID = 1682]
3. B, Cand D only

B, C 3iiz D @aa

[Option ID = 1683]
4. A, DandE only

A, D siiz E daa
[Option ID = 1684]

22) The transverse section of a plant material shows the following anatomical features
a) epidermis
b)The vascular bundles are arranged in a ‘ring’ and

c) Each vascular bundle is conjoint, open with endarch protoxylem.



This plant material is a

alfl bt ARGR DI eIy el forsifeaa omifye fadradrsii ot corfar 3-
©) dIlcadn

) asdl dscr ua f¥o1 3 w=raf¥era fve sa 3 iz

3T) YD JAasoll dScl U1 GIciaArsed d AT el 31 3

3 U1 &l AREY @Y sy fos wu 3 usaeRY?

[Question ID = 422][Question Description = 122_39_BIO_AUG22_Q22]

1. Monocotyledonous Stem

udisIud dolt

[Option ID = 1685]
2. Monocotyledonous Root

vadisud S

[Option ID = 1686]
3. Dicotyledonous Stem

fgefistadf} dom

[Option ID = 1687]
4. Dicotyledonous Root

fedioadft ors
[Option ID = 1688]

23) Which of the following are used as food?
forgarfeiRaea 31 1 Dlet A1 9isial @ U A JuRNeI b siar 8

[Question ID = 423][Question Description = 123_39_BIO_AUG22_Q23]

1. Agaricus and Morchella
3Rl 3T Alden

[Option ID = 1689]
2. Aspergillus and Penicillium

oufSlert stz Qforf3tferern

[Option ID = 1690]
3. Mucor and Rhizopus

FIDI 312 Aol

[Option ID = 1691]
4. Puccinia and Ustilago

gaafiforn 32 sclcen
[Option ID = 1692]

24) Match List | with List Il

List | List Il

A. E.coli I. Agar-agar production

B. Claviceps pupurea Il. Alkaloid from this is used in cough medicines|
C. Ephedra lll. Alkaloid obtained is used during childbirth
D. Gelidium and Gracilaria |IV. Assists digestion in human body

Choose the correct answer from the options given below:

gl -1 @1 g -1l A Fgaifera Hifste ¢

et -1 et -1l

A. E.coli |. 3PIR-3PIR IcUIGHT




1. 3213 BicIor ardl sicciiss T s iRdl
car 3 fopar sirar 3
Ill. gre sicpciiss T IURNPT ac) @ Slod D Il
SITer 3
D. Gelidium aen Gracilaria |IV. Jiold 912 A Urdel 3 AGRICAT DT &
oiiY feu a1u famedl 3 A 8 3R gforo :

[Question ID = 424][Question Description = 124_39_BIO_AUG22_Q24]
1. A-IV,B-Il,C-1I,D-1

B. Claviceps pupurea

C. Ephedra

[Option ID = 1693]
2. A-11,B-1I,C-IV,D-I

[Option ID = 1694]
3. A-1,B-1V,C-1,D-Il

[Option ID = 1695]
4. A-IV,B-Il,C-1,D-1i

[Option ID = 1696]

25) Given below are two statements

Statement I: Plasmolysis occurs when water moves out of the cell and the cell membrane of the plant cell shrinks away from
the cell wall

Statement Il: If the external solution is more dilute than the cytoplasm, it is said to be HYPOTONIC

In light of the above statements, choose the correct answer from the options given below

il ol awbe fRu a1u 3

abed- | wearraAlfiRRT ag diar 3 s/ urell wifdrr I ars? foraet sitar 3 3z ureu oot 6t wifdremr fRreedt wifdret fifer A g7 Rrags siedl 3
awoa-11 : afe arer faerier AsATsH A SfRID ol 3, dl 96 ICUURRINT Dacllr 3

JURITP <l aepcRll @ @A A fordol 3 A A3l I DI TRIol B2 :

[Question ID = 425][Question Description = 125_39_BIO_AUG22_Q25]
1. Both Statement | and Statement Il are true

aeped-| 3l acpoa-1| cloil & i &

[Option ID = 1697]
2. Both Statement | and Statement Il are false

aopee | 3l aopee || Qloll & 313 &

[Option ID = 1698]
3. Statement | is true but Statement Il is false

aopodt | 31 alfdper aepeet |l srerd 8

[Option ID = 1699]
4. Statement | is false but Statement Il is true

acpoet-| steta & eifepol apoa-11 a2

[Option ID = 1700]

26) The following features are seen in the flowers of a plant:

a) Male and Female reproductive organs are found on separate flowers,

b) The male flowers have long filaments, terminating into exposed anther lobes,
c) The female flowers have long feather-like stigma.

The flowers of this plant are most likely to be pollinated by

difl @ well d forgatfcilRaa faduam s ¢ 3 :

a) o2 3R AIGI Ysiolol 33T UR 31cTaT-31eTol Wedl UR UTe SIid 3

b) o Wil 3 < dg 3 3, Sl FO! WRIPIDIIN FAUS 3 AATH I 3
) rer wedl 3 &) 4@ Sk afefery B 3



33 i€l @ Well @ URIPIVI fordol A Blol bl FMIdoll 3 ©

[Question ID = 426][Question Description = 126_39_BIO_AUG22_Q26]
1. Water

oIcT

[Option ID = 1701]
2. Wind

&dr

[Option ID = 1702]
3. Bats

AINGS

[Option ID = 1703]
4. Birds

Rl
[Option ID = 1704]

27) Which of the following is NOT an application of tissue culture?
forgsifer3ae 3 3 lel AT Head Idaelol DI GIYRAIT oSl 37
[Question ID = 427][Question Description = 127_39_BIO_AUG22_Q27]
1. Rapid Clonal Propagation

cafdd deilolel RIR

[Option ID = 1705]
2. Somaclonal variations

JMararcilorel faroorar

[Option ID = 1706]
3. Embryo Rescue

9J0T dard

[Option ID = 1707]
4. Transgenic Plants

CiRISIforD diey
[Option ID = 1708]

28) Bt cottonis a
di& pura v

[Question ID = 428][Question Description = 128_39_BIO_AUG22_Q28]
1. Cloned Plant

aellol fpu oo did

[Option ID = 1709]
2. Hybrid Plant

Bisfys ureu

[Option ID = 1710]
3. Mutated Plant

ufsafeld urcu

[Option ID = 1711]
4. Transgenic Plant

CRISIfors urgu
[Option ID = 1712]
29) Sequentially arrange the following stages nodule formation in plants?
A. Bacteria cause the cortical and pericycle cells to divide, forming a nodule

B. Nodule has vascular connections continuous with those of the root



C. Rhizobium bacteria contact a susceptible root hair
D. Infection thread carries bacteria to inner cortex
E. Successful infection of root hair causes it to curl

Choose the correct answer from the options given below

diell 3 slISYel D 31661 D Y TRUIl DI RAHTGRIR RIal-erd @3 :

A. xdfyn Biféee iz O3RAsRee BB B fnfsr w01 BT PRE® Toid & T2IT TP SIS Jolld 3
B. oligyet 3 asoll dder 515 & AT oRAR 3l &

C. Isciifera dadiftyan Adcorefic st @ 91 A AUD Dd

D. iaparor eren Jadifr o1 siafe yiawen 3 o siar &

E. S5 @ 39l & AWber AGIHUT @ BRUT I FAASR 3l SIKd 3

il fRu o1 faseul 3 A 78 3a= gfore

[Question ID = 429][Question Description = 129_39_BIO_AUG22_Q29]
1. A,B,C,D, E

[Option ID = 1713]
2. C,A,B,E,D

[Option ID = 1714]
3. A CD,B,E

[Option ID = 1715]
4. C,E,D,A B

[Option ID = 1716]

30) Which of the following is used as a biocontrol agent against Lepidopteran larvae?
forgaiferiRaa 3 3 Dol cIdiSIUcol ciRd & RAcli dRIMbgIc Tsic d U 3 IURIIPI b Sirar 8?7

[Question ID = 430][Question Description = 130_39_BIO_AUG22_Q30]
1. Trichoderma

ferplsat

[Option ID = 1717]
2. Streptococcus

i
[Option ID = 1718]
3. Bacillus thurigiensis

dRrerar YRSIRRT

[Option ID = 1719]
4. Saccharomyces cerevisiae

AP AN
[Option ID = 1720]

31) Sliding filament model of muscle contraction

A. the area adjacent to the Z-line, where actin myofilaments are not superimposed by myosin myofilaments is I-band.
B. expansion and contraction only occur within the A band, whereas | and H-bands remain constant.

C. M-line is at the center of a sarcomere to which myosin myofilaments bind

D. without ATP, muscles would remain in their contracted state, rather than in their relaxed state

E. thick filaments are composed primarily of actin, tropomyosin, and troponin

Choose the correct answer from the options given below:

HIRAUIORIT & Jigdel @I Fensf3st fberdic dise
A. SI3-A1sal B SOTT DI 8¢, Sial ARNRIGT ARNMbeEic GRI vfdrest ARMNMbcIc 2RI o1dl fipan s 3, as s-ds 3



B. frar 3R Jiqad dact U s @ ofla? diar 3, Safdp i ik va-Js Rer wd &
C. war-31, A6l 3R ARNPcIEic @ SIS arcl APIBRR & g u= kit 3
D. odidi o fden aARIOfOrRI 3raeil fOrfret sraz-er 3 6ol @ SSIRI Uil 3iofefia srazen 3 &l
E. dlerg aral fierdic g0 u A ulfdreot, QAIARNRTG 3iiz Qulfstor A dol 8ld &
il fou s1u fyeseul A StaE o :
[Question ID = 431][Question Description = 131_39_BIO_AUG22_Q31]
1. A, Cand D only
A, C 3z D &qa

[Option ID = 1721]
2. B, DandE only

B, D 3iiz E ddet

[Option ID = 1722]
3. C,DandEonly

C, D 3iiz E ®daar

[Option ID = 1723]
4. A, BandD only

A, B 3iiz D @aa
[Option ID = 1724]

32) During the parturition, the baby’s head is pushing against the cervix causing the cervix wall to stretch. This stretching
causes nerve impulses to be sent to the hypothalamus which directs the posterior pituitary to release oxytocin in the blood.
Oxytocin stimulates the uterus to contract which pushes the baby’s head deeper into the cervix, stretching it further. This
situation is a description of which of the following?

JRId D GRIol, dcd ®I R12 sMi9RI sfiar @ Aol erdd 6T & fORRI 3fiar &I Slar b sidl 8 As Raara dfdaet 3masT @I srEUlPicldR] 3 fsIdr & St
i3 & frcgedt o w0 3 sifa=NARTer St w2al @1 forder Sar 3 sifa=fidiRer sreiorRT B AGRIA B0 B fore Peanfda w2ar 3 sl s B Br ot
ST31fORI 3ffar 3 316 A el ¢l 3, 33 3Pl JGIl & AUs Rafer foreifeiRaa 3 A fop1 @1 quier ol 3?7

[Question ID = 432][Question Description = 132_39_BIO_AUG22_Q32]
1. negative feedback

GIPRICHD Yferfapeim

[Option ID = 1725]
2. positive feedback

IADRIHD Yferfapm

[Option ID = 1726]
3. homeostasis

AT

[Option ID = 1727]
4. an afferent pathway to an integrating centre

uhlapd g AD Ugdel Pl IAL
[Option ID = 1728]

33) Which of the following describes the DNA content of human female gametes before the attainment of puberty?
forgatfeiRae 3t X wlot AT Aldol Yra 2ol A Uscl Aleld Af3clr 3Tl &t Sivore AIE] o1 auict wadar 3?7

[Question ID = 433][Question Description = 133_39_BIO_AUG22_Q33]
1. 46 chromosomes, 92 chromatids

46 @i, 92 aiRs

[Option ID = 1729]
2. 23 chromosomes, 23 chromatids

23 aaieiien, 23 aiRs

[Option ID = 1730]
3. 23 chromosomes, 46 chromatids

23 @i, 46 @



[Option ID = 1731]
4. 46 chromosomes, 46 chromatids

46 i, 46 Qs
[Option ID = 1732]

34) Cancellous bone contains
SirclicrR sif¥er 3 alar 3

[Question ID = 434][Question Description = 134_39_BIO_AUG22_Q34]
1. lamellae and osteocytes but no trabeculae

cldet 3R sifRciase dfdbol B8 Sdaelr oldl

[Option ID = 1733]
2. trabeculae, canaliculi and osteons

cida@el, donferapett sii siff¥erer

[Option ID = 1734]
3. haversian systems and canaliculi but no osteons

Bai¥frel i 3lik Donferapeit cifcpol sii¥crot o8l

[Option ID = 1735]
4. trabeculae and lamellae but no osteons

CIA@eTt 3IR cWiell cifdpel aif¥cerel oidl
[Option ID = 1736]

35) Transmission of sound waves from the outer ear to the inner ear
A. auditory canal

B. cochlea

C. stapes

D. tympanic membrane

E. malleus

Choose the correct answer from the options given below

a8 Dlet A 3MAR® il dd afer asil oI AT
A. ofavr oiret

B. wrofern

C. ¥

D. festifore fRrecit

E. Jiferrr

[Question ID = 435][Question Description = 135_39_BIO_AUG22_Q35]
1. D,B, A E, C

[Option ID = 1737]
2. AE,C,D,B

[Option ID = 1738]
3.D,CEB,A

[Option ID = 1739]
4. A,D,E C, B

[Option ID = 1740]

36) Match List | with List Il

List | List Il

A. Kyoto I. reconcile worldwide economic development with



protocol protection of the environment

B. The Il. measures to protect human health and the
IMontreal environment resulting from modifications to the
protocol ozone layer
C. Vienna A -

' . lil. limit and reduce greenhouse gases emissions
convention
D. Rio de . . .
Janeiro IV. phasing out the production and consumption of

ozone-depleting substances

conference

V. proposal to construct wildlife sanctuaries

Choose the correct answer from the options given below:

It -1 Bt g -1l A gaRma Hifde
et -1 et -1

|. gafazur b1 Jren @ AT fraendl snfffe feorT i
AR Fenfid odar 3

A. T Grivte

. . [Il. siirer ura 3 oiierel & ufvIERazsu dAleld Fae 33|
B SER tRIfazor Bt 3G o> IURT

C. forro wodorel  |lIl. Sficrarsa 31l & Icrsiol @I M3 3iiz da b3

D. f¥=i Sl safen IV, sisilol- sRIBE! ucrelf @ 3curcel 3t FUd ®dl TRUMLG
RTFIcTol AAD A JATH Bl

V. doesild IIIARV Follel BT Yrd

oifa feu aru faasedl 3 A A8 3R gforu :

[Question ID = 436][Question Description = 136_39_BIO_AUG22_Q36]
1. A-ll,B-l,C-lll,D-V

[Option ID = 1741]
2. A-ll,B-IV, C-Il,D-l

[Option ID = 1742]
3. A-IV,B-lll,C-V,D-l

[Option ID = 1743]
4. A-1,B-Il,C-lI,D-IV

[Option ID = 1744]

37) Regarding climatic factors that influence decomposition, select the correct statement
fererest @1 YyIfara ool arcl Siclar] BRI & Adder i, A8 SRATel DI TRIeT B3
[Question ID = 437][Question Description = 137_39_BIO_AUG22_Q37]

1. Cool and moist environment favour decomposition

ST 3IR oW1 dIAIARYI feerest @ 3rofde 8

[Option ID = 1745]
2. Warm and moist environment inhibit decomposition

o1t 3T oIt ATATaRYT frErest @Y Abel 3

[Option ID = 1746]
3. Low temperature and anaerobiosis inhibit decomposition

@ AIUHIel 3112 SIARIdRIAT fdercst ot Adar 3

[Option ID = 1747]
4. High temperature and anaerobiosis inhibit decomposition

3Icd adrel 32 rarIdRIAr fdErcsr oY Adar 3



[Option ID = 1748]

38) Glucose is NOT normally found in the urine because it
g i 3MAAIR U S¢IDISI o161 URII SIIeT 3 arIifs A8

[Question ID = 438][Question Description = 138_39_BIO_AUG22_Q38]
1. does not pass through the walls of the glomerulus

ScllABeR bt SRl A oidl ssRAr 8

[Option ID = 1749]
2. is kept in the blood by colloid osmotic pressure

DIeTss SMFARD Gara GRI b 3 2T ST &

[Option ID = 1750]
3. is reabsorbed by the tubule cells

oicht DY grT Yot: 3idqoNfRie faper it 3

[Option ID = 1751]
4. is removed by the body cells before the blood reaches the kidney

XD IS D Ugdol I Uscl 98I bl DIfIBIN gRI SR SIIer &
[Option ID = 1752]

39) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion (A): Primary succession is a slow process
Reason (R): To establish a biotic community, fertile soil must be formed

In light of the above statements, choose the correct answer from the options given below

il €1 ool fu aw 31 ues i sifdrveret (A) 3iiz g2 @1 aa (R) @1 sk 3
sifdraperet (A) : grefdres siglaarol e efisht gfegznm 3
a® (R) : Sifae FeIer &} Farden @ fére Sustrss Bl o1 forefur smaga® &
SR> Dsll B 3IIclicd A forvotifcpa faaeal 3 A A8 IR ol ©
[Question ID = 439][Question Description = 139_39_BIO_AUG22_Q39]
1. Both A and R are true and R is the correct explanation of A

(A) sz (R) clell 1t 2 3R (R), (A) &I 3 waren 8

[Option ID = 1753]
2. Both A and R are true but R is NOT the correct explanation of A

(A) 3iiz (R) cleil 318 8 ueg (R), (A) Pi &t caren ol &

[Option ID = 1754]
3. Ais true but R is false

(A) & 8 wog (R) 3 o &

[Option ID = 1755]
4. Ais false but R is true

(A) =t ot & weog (R) 2t &
[Option ID = 1756]

40) If the sun were to suddenly stop providing energy to earth, most ecosystems would vanish. Which of the following
ecosystems would likely survive the longest after this hypothetical disaster?

3PR I ol 3RIIeId Yedl ol IHeil Soll e @ &=, dl siferapior uriiR-erferdl def oIk 2l SIUsl $7 PIcuferd 3MUsI @ dIc fordalfciiRaa urfi-erferdby
gunferil 3 A Blol AT AGA cd AR s SHfae @am?
[Question ID = 440][Question Description = 140_39_BIO_AUG22_Q40]
1. tropical rain forest
Iwidpfesefir quf aor

[Option ID = 1757]
2. benthic ocean



IRp HBRIPR
[Option ID = 1758]
3. tundra

=
[Option ID = 1759]
4. grass land

arfr
[Option ID = 1760]

41) A DNA double helix is 340nm long. The number of nucleotides in this DNA is
Sluotu sqe fera=t 340 Nm ©d IWRI OB 3A S1T6IT A RAfdcRIICSS Ol AW &

[Question ID = 441][Question Description = 141_39_BIO_AUG22_Q41]
1. 1000

[Option ID = 1761]
2. 2000

[Option ID = 1762]
3. 200

[Option ID = 1763]
4. 20

[Option ID = 1764]

42) In a DNA sample, the ratio of the Adenine + Guanine and Thymine + Cytosine is 0.9. Calculate the same ratio in
complementary DNA strands.

3luctu o1el 3, u3forel + saiforel 3l AREIGG + AFARIG @I 3rgqurd 0.9 3 gy Sluciu 31 3 A6l 3roIuId bl Ivre B3
[Question ID = 442][Question Description = 142_39_BIO_AUG22_Q42]

1. 0.9

[Option ID = 1765]
2. 1.1

[Option ID = 1766]
3. 0.14

[Option ID = 1767]
4.2

[Option ID = 1768]

43) What is the number of nitrogenous bases if the length of the E. coli DNA is 5.78mm?
afe Stoorg & ciars 5.78 Rkl 3 al oirsdisior 81RY & Jzcan fobdoit 37

[Question ID = 443][Question Description = 143_39_BIO_AUG22_Q43]

1. 16 x 10°°

[Option ID = 1769]
2. 17 x 107

[Option ID = 1770]
3. 17 x 106

[Option ID = 1771]
4. 16 x 10

[Option ID = 1772]

44) Sphincter of Oddi is present in

TPl 3w st urn Sirdr 3

[Question ID = 444][Question Description = 144_39_BIO_AUG22_Q44]
1. the mucosa of stomach

3EIH I 5o fRrcett

[Option ID = 1773]
2. the submucosa of duodenum



SfSotd bl Iuesean fBrectt

[Option ID = 1774]
3. the hepatic lobule

Bfted cliepet

[Option ID = 1775]
4. the junction of hepato- pancreatic duct

3l - UolfpRIRT @ Sils W
[Option ID = 1776]

45) The thalloid stage of gametophyte in mosses is
@I D YoADICHIG bl RS Faz i
[Question ID = 445][Question Description = 145_39_BIO_AUG22_Q45]
1. Gemma cup
HBeT DU
[Option ID = 1777]
2. Protonema
Qictoftar

[Option ID = 1778]
3. Prothallus

Qe

[Option ID = 1779]
4. Mycorrhiza

DADICT
[Option ID = 1780]

46) How long would the peptide be that is translated from this mRNA sequence:

5’AUGGUUAAUAACACAUGAGGCCUGAAC- 3°?

$3 UHASIRYGIY 3o A UKISS od D 3fefdiied fepa i 3 :
5-AUGGUUAAUAACACAUGAGGCCUGAAC-3 *?

[Question ID = 446][Question Description = 146_39_BIO_AUG22_Q46]
1. 5

[Option ID = 1781]
2. 6

[Option ID = 1782]
3.9

[Option ID = 1783]
4. 4

[Option ID = 1784]

47) A normal mRNA that reads 5’-UGCCAUGGUAAUAACACAUGAGGCCUGAAC-3’ has an insertion mutation that changes the
sequence to 5’- UGCCAUGGUUAAUAACACAUGAGGCCUGAAC- 3’. Which of the following is the correct sequence of amino

acids, if the mutated mRNA is translated?

g AHGA TAMREGT Sil 5 '-UGCCAUGGUAAUAACACAUGAGGCCUGAAC-3' ugar 3 3ad ud yfafte Scufyadst glar 3 Sl sfofapd @I 5 -
UGCCAUGGUUAAUAACACAUGAGGCCUGAAC-3' 3 scerar 8 af Icufvalcia wasiREsIu oI 3iojdrc o sirar 3 dl forgetfcriRaa 3 A wlol A1

I3} e 3wtloll ef¥ts @1 37

[Question ID = 447][Question Description = 147_39_BIO_AUG22_Q47]
1. Met - Val - Ile - Thr - His - Glu - Ala

[Option ID = 1785]
2. Met - Val - Asn - Asn - Thr

[Option ID = 1786]
3. Ala - Met - Val - Asn - Asn - Thr



[Option ID = 1787]
4. Ala - Met - Val - Ile - Thr - His - Glu - Ala

[Option ID = 1788]

48) For an experiment, a scientist chose a mRNA which is complementary to the DNA template strand and the DNA
template strand is complementary to coding strand. Would you expect the base sequences of mRNA and DNA non-template
strand identical?

O GBI @ fé1u, U JIfold of Ub UHIIRTGIT I TRI6l fopar Sil Sueiu ¢Fucic 3¢S @ QD & 3R 3Iueiu ¢Iucic 3¢ PISII I¢s D QR & a-l
3T THASIREGIT 3R S106Iu 33-¢FUcic 3¢S D Aol D LR Hofpdl Bl T HIdN?

[Question ID = 448][Question Description = 148_39_BIO_AUG22_Q48]
1. No, they cannot be identical because the T nucleotide in DNA is replaced with the U nucleotide in RNA.

o181, d A9l oldl Bl Adbe] GRIIfch Siwote 3 & SYICRIICISS Dl 3IREeIE I I SYfIeRICISS A Yerreniud fipar S &

[Option ID = 1789]
2. Yes, they can be identical if demethylation of the U nucleotide in RNA occurs, yielding a T nucleotide.

3l, d AWGT 8l AD & ARG AIRVGIT 3 I GY[ACRIICISS DI SIIISEIIGI Bl 3, Sl B < YfeRIIeISS 3rucol DIl &

[Option ID = 1790]
3. Yes, they can be identical if methylation of the U nucleotide in RNA occurs, yielding a T nucleotide.

8i, q T B A 3 AR 3MRTGIE I I fcRIlcTss BT frensagel alar 3, RBRRI & syfdcrilicrss 3cuool alar &

[Option ID = 1791]
4. No, they cannot be identical because the T nucleotide in RNA is replaced with the U nucleotide in DNA.

o1dl, q ol ofdl 2 Al qRAifD 3iRuste 3 ¢t oyfrerilerss @ Sluotw 3 3 syfdrerierss A yferenfia fpar siar 8
[Option ID = 1792]

49) Which structure-function pair is mismatched?
Dlol Al Jiaoin-orRI SISt ddier 3?7

[Question ID = 449][Question Description = 149_39_BIO_AUG22_Q49]
1. Smooth endoplasmic reticulum - synthesis of lipids

JAuIe/ I USIESHD deqpem-fRifis ol Aecuur

[Option ID = 1793]
2. Golgi apparatus - synthesis of polysaccharides

Silcreft 3UdT-UichAbASSA BT JsSuuT

[Option ID = 1794]
3. Peroxisome - Cellular respiration

ORAfrrA191- BHIIBRI ol

[Option ID = 1795]
4. Vacuole - water balance

JaRpIcT-SIcl Aol
[Option ID = 1796]
50) Given below are two statements

Statement I: The Golgi apparatus consists of a group of associated, flattened membranous sacs—cisternae—looking like a
stack of pita bread.

Statement Il: The membrane of each cisterna in a stack separates its internal space from the cytosol.

In light of the above statements, choose the correct answer from the options given below

il S werel 3w sre 3 ¢

ool - | : siicaft dq 3 g, audt Ricclicr dcli-Rizcef-dicr g5 & 32 &I s S0 arct A3 BT Ub FIHE BT 3
el - |l : ¥ 3 Yy Rracol &t Biecdl sraal siiaf¥e Fermer @1 ArsARA A icer okl 3

SRl werell @ aircias 3 BsifeiRaa Riwedl 3 A 21 Ia= ol :

[Question ID = 450][Question Description = 150_39_BIO_AUG22_Q50]
1. Both Statement | and Statement Il are true



@erot | 3liz || Seil 218t &

[Option ID = 1797]
2. Both Statement | and Statement Il are false

@erot | 3z || Seil st &

[Option ID = 1798]
3. Statement | is true but Statement Il is false

el | 3 &, fopog et |l sreia 2 |

[Option ID = 1799]
4. Statement | is false but Statement Il is true

el | 31 AT & , fpog et |l a8t &
[Option ID = 1800]

Topic:- ABCO1_Chemistry

1) A salt is considered sparingly soluble if its
QO cIdUT IcUfICRT AToll ST 3 AfS saacbl

[Question ID = 451][Question Description = 101_40_CHE_SEP22_Q01]
1. Solubility <0.01M

fderrer < 0.01M

[Option ID = 1801]
2. Solubility = 0.01M

ferrer = 0.01M

[Option ID = 1802]
3. Solubility > 0.1M

frcrerar > 0.1M

[Option ID = 1803]
4. 0.01M< solubility < 0.01M

0.01M < fackrer < 0.01M
[Option ID = 1804]

2) The conductance in electrolytes is due to
farega sruzErczil 3 arcrsarn fpad> Rt BNl 3 :

[Question ID = 452][Question Description = 102_40_CHE_SEP22_Q02]
1. Flow of free mobile electrons

D JIdISel Scldgioll @ dMtel A

[Option ID = 1805]
2. Movement of ions

3IRIGH @ JWTel A

[Option ID = 1806]
3. Movement of uncharged species

3orfter SHfeRl @ swer 3

[Option ID = 1807]
4. Movement of cations only

Ddcl HolRIGl D dTel A

[Option ID = 1808]
3) Foran isolated system, if AU=0 then what will be value of AS
s AofmRer s fuaR av = 02 ST as ST 91

[Question ID = 453][Question Description = 103_40_CHE_SEP22_Q03]
1. AS=0

[Option ID = 1809]



2. AS>0

[Option ID = 1810]
3. AS<0

[Option ID = 1811]
4. AS is not defined

AS ufssrfie ot 3
[Option ID = 1812]

4) The vapour pressure of chloroform and ethylene glycol at 400 K are 300 mm Hg and 500 mm Hg, respectively. Find the
vapour pressure of the solution prepared by mixing 50 g of chloroform and 25 g of ethylene glycol at 400 K.

400 K ama uz geiRIwid 3iiz ufdreliol serswmicl or arcu g aprer: 300 mm Hg 3iik 500 mm Hg 3 50 g aciriwiat siiz 25 g ufdrciier sarsmia
@1 400 K aua uz fBrerrp: GRIR facriet @1 amu g™ siid bifsre

[Question ID = 454][Question Description = 104_40_CHE_SEP22_Q04]
1. 347.9 mm Hg

[Option ID = 1813]
2. 423.78 mm Hg

[Option ID = 1814]
3. 229.31 mm Hg

[Option ID = 1815]
4. 401.82 mm Hg

[Option ID = 1816]

5) One gets the straight line in Freundlich adsorption isotherm is by plotting:

[Question ID = 455][Question Description = 105_40_CHE_SEP22_QO05]
1. Ln(x/m) vs P

[Option ID = 1817]
2. Log (x/m) vs log P

[Option ID = 1818]
3. m/xvsP

[Option ID = 1819]
4., x/mvs 1/P

[Option ID = 1820]

6) In the first order reaction, the concentration of reactant decreases from 500 mol/dm3 to 10 mol/dm? in 4.0 x 103 sec.
The rate constant of the reaction is :

yerd oife bt arfdifgnn 3, sifirore &t wegar 4.0 x 103 Jwus 3 500 mol/dm3 A aewz 10 mol/dm3 2 sirclt 3 sifdiRpzn @1 Ao1 Reeriad 3-

[Question ID = 456][Question Description = 106_40_CHE_SEP22_QO06]
1. 0.978 x 103 sec™!

[Option ID = 1821]
2. 0.978 x 103 mol L' sec!

[Option ID = 1822]
3. 0.432x 103 sec’!

[Option ID = 1823]
4. 0.432x 103 mol L' sec™!

[Option ID = 1824]

7) Mark the incorrect statement about zero order reaction
9o DIfe &Y MR B ar 3 sRICT Bt ) fafosd B3-

[Question ID = 457][Question Description = 107_40_CHE_SEP22_Q07]
1. The concentration of reactant decreases linearly with time

PR b AigAr R D Arel IRaD Fu A dedl Siedt 2
[Option ID = 1825]



2. The concentration of reactant increases linearly with time
SIfSrpRE® Bt Aigar IeRT D Arer IRAD I A Tt St 3

[Option ID = 1826]
3. Half-life is directly proportional to initial concentration of reactant

31ef- oIy SIf¥PR® bl YRIForD AlGAr D Ao Bl &

[Option ID = 1827]
4. The unit of rate constant, k is mol L'! time™"

Jor Bepic & sorg mol L' time™! 8
[Option ID = 1828]

8) An element possesses fcc structure with an edge length of 288 pm. The density of the element is 4.5 g/cm® . How many
atoms are present in 155 g of the element?

9 ded b 288 pm el & ciard @ 1 fec Fvaei 3l 3 dea @1 #@otea 4.5 g/cm3 & 155g dca 3 Rodol uzanyy g 37

[Question ID = 458][Question Description = 108_40_CHE_SEP22_QO08]
1. 24.16 x 102 atoms

24.16 x 102 wsmy

[Option ID = 1829]
2. 57.64 x 1023 atoms

57.64 x 1023 uzemvy

[Option ID = 1830]
3. 24.16 x 1020 atoms

24.16 x 1020 wzsmyy

[Option ID = 1831]
4. 57.64 x 1020 atoms

57.64 x 1020 gy
[Option ID = 1832]

9) Which among the following shows Antiferromagnetism?
fogsifeiRan 3 A blal 11 yferellsdamea Gz 3 ?

[Question ID = 459][Question Description = 109_40_CHE_SEP22_Q09]
1. Hy0

[Option ID = 1833]
2. NaCl

[Option ID = 1834]
3. Ce¢He

[Option ID = 1835]
4. MnO

[Option ID = 1836]

10) Which of the following option has lowest degree of ionization?
forgatferRaa fraseul 3 A 219l sYotarat IRIGH®m2UT 3-

[Question ID = 460][Question Description = 110_40_CHE_SEP22_Q10]
1. 0.0001 M HCL

[Option ID = 1837]
2. 0.001 M HCl

[Option ID = 1838]
3. 0.01 M HCL

[Option ID = 1839]
4. 0.1 MHCL

[Option ID = 1840]

11) Choose the correct option for the compound whose 0.5 M solution is acidic in nature.



feu o1u faeseul 3 2 218l AIIs B goi Tt 0.5M frerrer sFefi=r yapfer @1 3 :
[Question ID = 461][Question Description = 111_40_CHE_SEP22_Q11]

1. Ammonium acetate

sEforEr BRRE

[Option ID = 1841]
2. Sodium acetate

Al el

[Option ID = 1842]
3. Sodium chloride

NS TeiRIss

[Option ID = 1843]
4. Slaked lime

FdS Joll
[Option ID = 1844]

12) According to the Avogadro's law, what is the relation between volume of 1 kg mol of oxygen and volume of 1 kg mol of
nitrogen, at normal pressure and temperature? ( mass of 1 kg mol of oxygen is 32 kg and mass of 1 kg mol of nitrogen is

28 kg)

IAIBIIG] B ORI B RIR, ARG oI 3R arg uz 1 kg mol sifarilsier @ sirRidet siiz 1 kg mol siEdser & eI @ i o= s« 3? (1 kg mol
sifarfistor @1 goadrol 32 kg 3 oirscisiel @ 1 kg mol &1 gerarret 28 kg 3)

[Question ID = 462][Question Description = 112_40_CHE_SEP22_Q12]
1. Volume of 1 kg mol of oxygen is double of nitrogen
1 kg mol siierfisier &1 3IRIAGT aisglsiol @ 1 kg mol @ 3IRIde @l SPel Bldr 3

[Option ID = 1845]
2. Volume of 1 kg mol of oxygen is less than that of nitrogen
1 kg mol siiaefisier @1 3IRIAG aisgrsiol @ 1 kg mol @ 3IRIde 3 & 3T &

[Option ID = 1846]
3. Volume of 1 kg mol of oxygen is same as that of nitrogen
1 kg mol siia=fisier @1 3IRIAG aisgrslol @ 1 kg mol & SIRIde & SRR 3 &

[Option ID = 1847]
4. Volume of 1 kg mol of oxygen is triple of nitrogen
1 kg mol sifa=fisier @1 3IRIAe aisgrsiol @ 1 kg mol @ sirIde o1 et sfotr aldr 3

[Option ID = 1848]

13) The value of K. of the reaction 2A = B+C is 2x10-3. At a given time, the composition of reaction mixture is [A] = [B] =
[c] = 3x10* M.

Select the correct options.

K. o1 airet siftifipzr 2A = B+C is 2x10°3 @ Rre 3 Roaft 39rR1 U IIriforas Biopur @t visrcet [A] = [B] = [C] = 3x104 M 3

forgat 9 A Al fpey ol :

[Question ID = 463][Question Description = 113_40_CHE_SEP22_Q13]
1. Qc < Kc

[Option ID = 1849]
2. Qc>Kec

[Option ID = 1850]
3. Qc=Kc

[Option ID = 1851]
4. Q¢ = Kc

[Option ID = 1852]

14) Consider the following statements

i. Positive entropy change is possible at any temperature



ii. Combustion of methane is an endothermic process
iii. q = 0 for a cyclic process
iv. q = 0 for an adiabatic process

Select the correct option for true statement(s):

foraifeiRaa el u? far @3 :
i. fop=fl off AU WR eroeI wogrdl uf¥acde s 8
ii. 19T DI ool TD Hraroldl yfipgan 3
iii. q = 0 gafa yfegen & fere
iv. q = 0 3gIea yfegrn & fero
forgst 3 3 A8 et Yo :
[Question ID = 464][Question Description = 114_40_CHE_SEP22_Q14]
1. iii and iv Only
act iii 3l iv

[Option ID = 1853]
2. ii, iii and iv Only

@ad i, i sl iv

[Option ID = 1854]
3. i, iii and iv Only

et i, iii aiz iv

[Option ID = 1855]
4. iv Only

Dac iv
[Option ID = 1856]

15) Values of the standard reduction potential of three metallic ions P, Q and R are 0.77, -2.93 and -0.13, respectively.
The correct order of stronger reducing agent is:

o1 e 3mRrell P, Q 3k R @ aioios 3rueriet fanra @ #ret agtor: 0.77, -2.93 8k -0.13 3 yad sruarie o1 38 @A 8 ©

[Question ID = 465][Question Description = 115_40_CHE_SEP22_Q15]
1. R>Q>P

[Option ID = 1857]
2. P>Q>R

[Option ID = 1858]
3. Q>R>P

[Option ID = 1859]
4. R>P>Q

[Option ID = 1860]

16) Which statement is ‘true’ for equilibrium constant, Keq of a specific reaction?
fop2tt fafdree sifdifdpen @ AeRmazen Reric Keq @ forg ot a1 @weret "aca’ 37

[Question ID = 466][Question Description = 116_40_CHE_SEP22_Q16]
1. It may be changed by the addition of a catalyst.

33 3AYRD SIcTb2 D Gl Sl Dl 3

[Option ID = 1861]
2. ltincreases if the concentration of one of the products is increased.

g I3 Slicll 3 PR 3curcl 3 A b bl Algl 96 Sl 3

[Option ID = 1862]
3. It changes with changes in the temperature.

*IE Al 3 ISl D T8l dGelddl 3



[Option ID = 1863]
4. It increases if the concentration of one of the reactants is increased.

afe; fepaft wep sifdrre & JAigar 61 Sl SIe dl s 96 Sidl 3
[Option ID = 1864]

17) Select the incorrect option.
foratfeii¥aa 3 A 3RICA ey ol :

[Question ID = 467][Question Description = 117_40_CHE_SEP22_Q17]
1. Molecularity and order of an elementary reaction are same

SfYadsar e wife yreifda sifdifipal &bt Jwior Bicdt 8

[Option ID = 1865]
2. k = AeEa/RT

[Option ID = 1866]
3. k =PZpp eEa/RT

[Option ID = 1867]
4. B is a steric factor

B v foyfder e 2
[Option ID = 1868]

18) Millikan’s Oil drop Method was used to determine:
fiferepar &t et &t g fafr o1 suRMer --------- forertzur @l @ fere fepam srm en-

[Question ID = 468][Question Description = 118_40_CHE_SEP22_Q18]
1. Neutrons

ool

[Option ID = 1869]
2. Protons

Qictor
[Option ID = 1870]
3. Positron

ursficior
[Option ID = 1871]
4. Charge on the electrons

SoIacioll U2 39T
[Option ID = 1872]

19) Which of the following metals are refined by electrolytic refining method?
A. Cu
B. Ni
C.1Zn
D. Fe

Choose the correct option:

forgotferRaa 3t wiot 2t &g dega srazEreofl faftr grr onfera Bt st 3/ 3 ?

A. Cu

B. Ni

C.1Zn

D. Fe

13l Rrpeu @1 g :

[Question ID = 469][Question Description = 119_40_CHE_SEP22_Q19]



1. Aand B only
Dact A iz B

[Option ID = 1873]
2. Aand Conly

Dact A iz C

[Option ID = 1874]
3. Cand D only

dac C 3z D

[Option ID = 1875]
4. Band Conly

@acr B gz C
[Option ID = 1876]

20) On considering the ores of Fe and Cu
A. Malachite

B. Calamine

C. Bauxite

D. Siderite

Choose the correct option have the ores of Fe and Cu.

Fe 3iir Cu @& 3RR® DI Usdrol :
A. dreiorse
B. dciamsst
C. diqarse
D. Ri33rsc
il fou s1 feseul 3 21 Cu 3iik Fe 6l & srropl @ fére ey 3 ¢
[Question ID = 470][Question Description = 120_40_CHE_SEP22_Q20]
1. Aand B only
@act A stk B

[Option ID = 1877]
2. BandConly

@ae B sk C

[Option ID = 1878]
3. Aand D only

Dact A 3iiz D

[Option ID = 1879]
4. Band D only

Dact B siiz D
[Option ID = 1880]

21) Which of the following is correct for the number of bonds present in pyrophosphorous acid?
URRIGRFBIRA 3@ 3 dlsig d@ell bl Awn @ fere forgsifeiRan 3 A oot A1 frveu 18t 3?7

[Question ID = 471][Question Description = 121_40_CHE_SEP22_Q21]

1. 1P-OH, 2 P-H, 1 P=0

[Option ID = 1881]
2. 2 P-OH, 2 P-H, 2 P=0

[Option ID = 1882]
3. 2 P-OH, 1 P-H, 1 P=0

[Option ID = 1883]
4. 4P-OH, 2 P-H, 1 P=0



[Option ID = 1884]

22) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Oxygen has less negative electron gain enthalpy than sulphur
Reason R : Electronegativity of oxygen is more than sulphur.

In light of the above statements, choose the correct answer from the options given below

il €1 ool fu ae 31 uep @ sifdrperet (A) 3iiz g2 @1 a (R) @1 sk 3
sifdrperet (A) : sifariisior &I sciaciol cfoer wedicUl Acp2 DI dctoll 3 BH SBUICAD BIdl &
am (R) : sifa=fisial &I feesponcacdar JAcw: A Ui sl 8
SR> DUl B 3IIclld A forwotifcpa faaeal 3 2 A3l I= ol ©
[Question ID = 472][Question Description = 122_40_CHE_SEP22_Q22]
1. Both A and R are correct and R is the correct explanation of A
(A) 3z (R) clall 31t 2 3R (R), (A) &t 3 wren 8

[Option ID = 1885]
2. Both A and R are correct but R is NOT the correct explanation of A

(A) siiz (R) cleil 318t 8 ueg (R), (A) Pi 1t caren ol &

[Option ID = 1886]
3. Ais correct but R is not correct

(A) 38t 8 wog (R) &l o18l &

[Option ID = 1887]
4. Ais not correct but R is correct

(A) =t ot & weog (R) =t &
[Option ID = 1888]

23) Match List | with List I

List | List 11

A. PCl3 |. Tetrahedral

B. H3PO; [ll. Pyramidal

C. XeF4 [lll. Bent T
D. ICl5 IV. Square
Planar

Choose the correct answer from the options given below:

et -1 Bt 3 -1l A FARTa B
et -l el -l

A. PClz  |l. agewerdbra
B. H3PO; |ll. Rrif3rstr

C. XeF4 |lll. dfpa T

D. ICl3 V. aof Jaactcr

oifa) feu o1u faasedl 3 A 8 3R gforo :

[Question ID = 473][Question Description = 123_40_CHE_SEP22_Q23]
1. A-l, B-lll, C-1V, D-lI

[Option ID = 1889]
2. A-1, B-1v, C-III, D-1I

[Option ID = 1890]
3. A-ll, B-I, C-1V, D-llI



[Option ID = 1891]
4. AL, B-IIl, C-IV, D-I

[Option ID = 1892]

24) The compound of transition metals have good catalytic properties due to:
A. smaller size of the metal ions

B. high ionic charges

C. ability to adopt multiple oxidation states

D. higher melting point

Choose the correct answer from the options given below:

AT 3l & AMBIDBI BT Iotchl 3rcsd IYRD IYUIert BT BRUT 3 ©
A. a1q 3RI6ll @ BI¢ PR D PRI
B. 3<a smrRifores smagll @5 eRUT
C. @2 sitazfiazur srazensili al 3Uciiel &l ST @5 BIRUT
D. 3 sIetetics @ PRI
il 3w a1 fyaseul 9 A W& 3= goi ¢
[Question ID = 474][Question Description = 124_40_CHE_SEP22_Q24]
1. Aand B only
et A 3k B

[Option ID = 1893]
2. Cand D only

@act C sk D

[Option ID = 1894]
3. Conly

Dac C

[Option ID = 1895]
4. Donly

dact D
[Option ID = 1896]

25) Which one of the following is amphoteric oxide?

forgorferRaa 3 A wiot AT IRreni siiaarss 87

[Question ID = 475][Question Description = 125_40_CHE_SEP22_Q25]
1. V205

[Option ID = 1897]
2. Cr0Os3

[Option ID = 1898]
3. Mn07

[Option ID = 1899]
4. V;03

[Option ID = 1900]

26) The electronic configuration of Promethium (Atomic number 61) is:
QUARRIF (U] RAHID 61) I sciaciform [RearRT 8:

[Question ID = 476][Question Description = 126_40_CHE_SEP22_Q26]
1. [Xe] 45 5d0 6s2

[Option ID = 1901]
2. [Xe] 4f7 5d0 6s!



[Option ID = 1902]
3. [Xe] 4f> 5d! 6s!

[Option ID = 1903]
4. [Xe] 4> 5d? 6s0

[Option ID = 1904]

27) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Zinc is not a transition metal.
Reason R : ZnZ* has completely filled d orbitals.

In light of the above statements, choose the correct answer from the options given below

il Q1 erol fu aw 31 uep i sifdrperet (A) 3l @R @1 aa (R) o1 sk 3
sifdrperet (A) : Bicc oo JAmavr end odl 3
aas (R) : Zn?* 3 d siffdfecar g3t aes A 321 diar 3
IR PGl D 3AIeliD i forotifcpa fameal 3 A A8 IR ol ©
[Question ID = 477][Question Description = 127_40_CHE_SEP22_Q27]
1. Both A and R are true and R is the correct explanation of A

(A) 3z (R) clell 21t & 3R (R), (A) &I & e &

[Option ID = 1905]
2. Both A and R are true but R is NOT the correct explanation of A

(A) siiz (R) Gl 218t & weog (R), (A) & 1t =m=n ot 8

[Option ID = 1906]
3. Ais true but R is false

(A) & 8 weog (R) it o &

[Option ID = 1907]
4. Ais false but R is true

(A) & ol 8 wog (R) 3 &
[Option ID = 1908]

28) ldentify the correct option from the following in which all molecules exhibit zero dipole moment:
forgaticiiRaa 3 A Bl fameu bl usaret o2 BRI Al 319 9w foega vt ygidia o &

[Question ID = 478][Question Description = 128_40_CHE_SEP22_Q28]
1. NF3, CO2, CCly

[Option ID = 1909]
2. BF3, HyS, CCly

[Option ID = 1910]
3. BF3, COz, CCly

[Option ID = 1911]
4. BF3, COy, CHCl3

[Option ID = 1912]

29) On considering the following compounds:
A. Na;HPO4

B. Na¢P¢O1s

C. Ca3(P04)2

D. Na;CO3

Choose the correct answer for water softening reagents.

forgarferi¥aa if3rml @I &tet Sl 3T :



A. Na;HPO4

B. NagPsO1s

C. Ca3(P04):

D. Na;CO3

SIcl Jg=ul 3ifdipaiapl @ fere Al fapeu goi ©

[Question ID = 479][Question Description = 129_40_CHE_SEP22_Q29]
1. Aand B only

Dact A 3iiz B 3

[Option ID = 1913]
2. BandConly

@act B ik C A

[Option ID = 1914]
3. Aand D only

dact Asiz D

[Option ID = 1915]
4. Band D only

Pact B ik D X
[Option ID = 1916]

30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Beryllium carbonate is kept in the atmosphere of carbon dioxide.
Reason R : Beryllium carbonate decomposes on heating to give beryllium metal and carbon dioxide.

In light of the above statements, choose the correct answer from the options given below

il €1 erol fu aw 31 uep @ sifdreveret (A) 3iiz g2 @1 a (R) @1 srr 3
sifdrpee (A) : IRCREI Ddiolc PIdd SEIdRIES @ ArAraRT 3 [T ST &
a® (R) : af¥fermer oreloie a1l ol UrR Rafed gim: dfferer enq 3R Dol SIssiiaRIss a1 d
SR> DUsll B 3Irclld A forvotifcpa faaeal 3 A At I= ol ©
[Question ID = 480][Question Description = 130_40_CHE_SEP22_Q30]
1. Both A and R are true and R is the correct explanation of A
(A) 3z (R) clall 31t 2 3R (R), (A) &t 3 waren 3

[Option ID = 1917]
2. Both A and R are true but R is NOT the correct explanation of A

(A) siiz (R) cleil 318 & ueg (R), (A) PI 1t caren ol &

[Option ID = 1918]
3. Ais true but R is false

(A) 38t 8 wog (R) &l o18l &

[Option ID = 1919]
4. Ais false but R is true

(A) &t ol 8 uzog (R) 218t &

[Option ID = 1920]

31) What is the mass percent of carbon in carbon dioxide?
DIdol SIE3HTaATSS 3 DIdel DI godrel Yferord fepder 37

[Question ID = 481][Question Description = 131_40_CHE_SEP22_Q31]
1. 0.034%

[Option ID = 1921]



2. 3.4%

[Option ID = 1922]
3. 28.7%

[Option ID = 1923]
4. 27.27%

[Option ID = 1924]

32) Oxidation state of Cl in species produced on disproportionation reaction of Cl0; are:
Cl0; o1 srRTamgpurel sifdrfpzn 31 freft snferit 3t Cl &1 sifaftaszor sraver 3-

[Question ID = 482][Question Description = 132_40_CHE_SEP22_Q32]

1. +1, +5

[Option ID = 1925]
2. 1,45

[Option ID = 1926]
3. +1, +7

[Option ID = 1927]
4. -1, +7

[Option ID = 1928]

33) Which of the following complex is used for the treatment of lead poisoning?
forgatferRaa 31 3 b1 et o1 Iu=ieT Al furpar & Suar & fére R sirar 37

[Question ID = 483][Question Description = 133_40_CHE_SEP22_Q33]
1. D-penicillamine

D- uferRrerfdror

[Option ID = 1929]
2. EDTA

[Option ID = 1930]
3. Cis-platin

Cis-tifear

[Option ID = 1931]
4. Desferrioxime B

SIBR¥3NaSH B
[Option ID = 1932]

34) The crystal system of Cinnabar is:
Rrotar: @1 fagzed dq -

[Question ID = 484][Question Description = 134_40_CHE_SEP22_Q34]
1. Trigonal

peauil

[Option ID = 1933]
2. Tetrahedral

AGEBCTDRI

[Option ID = 1934]
3. Cubic

Hoflr

[Option ID = 1935]
4. Triclinic

feferarer
[Option ID = 1936]



35) In the following reaction, if X' is an alkyne with lowest molecular weight, then maximum number of atoms in 2 are

Frofafia sfifea & oft X v aom ifds yrR e teerss o a2 o Siftwan oy # Sen s

Red Hot - CHCl
Cu tube Anhyd. AICI4
[Question ID = 485][Question Description = 135_40_CHE_SEP22_Q35]
.15
[Option ID = 1937]
2. 16
[Option ID = 1938]
3. 14

[Option ID = 1939]
4. 17
[Option ID = 1940]

36) Forthe following compounds:

Frafciea et & o -
: OH

NO,
OH
if)

H
N O
0
iii) HO

Choose ihe correct answer fron the oplions shows maximum iniermolecular hydrogen bonding.

2 Tau e w1 § ofiear oftt - sivias eese ey IR aie e/ 8
[Question ID = 486][Question Description = 136_40_CHE_SEP22_Q36]
1. iii) only
o iii)
[Option ID = 1941]
2. i) and ii) only

Dact i) 3l ii)
[Option ID = 1942]
3. i) only

et i)
[Option ID = 1943]
4. 1), ii) and iii)
i), ii) sl iii)
[Option ID = 1944]

37) Choose the correct option for the feasible reaction.
Jesfa sifdifdpn @ fere Aél faaeu ol ol ©
[Question ID = 487][Question Description = 137_40_CHE_SEP22_Q37]



-

—_—
x;: BI’;
[Option ID = 1945]

OH cl
5 @’ + SOCh — = ©'

[Option ID = 1946]

O e — e
[Option ID = 1947]
ONa
4 @DH 4 NaQH ————= O + H;0
[Option ID = 1948]
38) cl
@ 6CI, + Anhy. AICI c cl
Dark, Cold cl cl

cl

The above reaction Is an example of.
goiaa e Semv B
[Question ID = 488][Question Description = 138_40_CHE_SEP22_Q38]
1. Nucleophilic addition reaction
olifdrep3reft Merst sifdifpRir

[Option ID = 1949]
2. Electrophilic addition reaction

SAorplt @wrsT s

[Option ID = 1950]
3. Electrophilic substitution reaction

sAorplt gRReol afdfiE

[Option ID = 1951]
4. Free radical addiction reaction

HD FHID Aorsl 3AfdifpR
[Option ID = 1952]

Select the comect option for the reactant to get 'A’ via ozonolysis:
I = o fowes 31 97 o SwFITaE 3 9 IUE A 39 8
[Question ID = 489][Question Description = 139_40_CHE_SEP22_Q39]

1.

H4C

[Option ID = 1953]

CHy
2.

CH;

[Option ID = 1954]



HaC.._CHs
e

[Option ID = 1955]

4. H3C\@,CH3

[Option ID = 1956]

40) Select the correct statement for CH3sF, CH3Cl, CH3Br and CHsl.
CH3sF, CH3Cl, CH3Br siiz CH3l @ fere 1@l weret @I goi ©

[Question ID = 490][Question Description = 140_40_CHE_SEP22_Q40]
1. Dipole moment of I-CH3 is maximum

CHs- | @1 fgga smgof siftrasaon

[Option ID = 1957]
2. C-X Bond enthalpy of F-CH3 is maximum

CH3-F ot sieror wodlett siférmean &

[Option ID = 1958]
3. Dipole moment of C-X for CH3-Cl is more than CH3-Br

C-X fasega amguf CH3-Cl o fore CH3-Br 31 aiftrs 3

[Option ID = 1959]
4. Dipole moment of C-X for CH3-CHs-F is more than CH3-Cl

C-X fosgar amof CH3-F & fere CH3-Cl 31 aifts &
[Option ID = 1960]

41) Maich the name of reagent (given in eolumn A} with the Tormuia of reagent (given In eslumn

Bl
Column A Column B
I, Lucas reagent a. Alkaline KMnOy
ii. Bayer's reagent b. CHaMgBr
iil.-PCC € ZnCh + HCI
s
| ) I @ 0
iv. Grignard reagent & N/ 0-Cr-Cl
I
¢ H 0

Choose the correct answer from the options given below:

HiusHE @Y A) F TR S Hyeds 5 97 (Y 8) § ghve ey

wH A ®HB
| TS HwHS a &RIT KMnOy
i 5 fierE b. CHaMgBr
il PCC €. ZNCly+ HCI
o B
iv. fimam s ds | = @0—61‘—(“
i @H I

R e e ST

[Question ID = 491][Question Description = 141_40_CHE_SEP22_Q41]

1. i-c, ii-d, iii-a, iv-b

[Option ID = 1961]
2. i-b, ii-c, iii-a, iv-d

[Option ID = 1962]



3. i-b, ii-d, iii-a, iv-c

[Option ID = 1963]
4. i-c, ii-a, iii-d, iv-b

[Option ID = 1964]

42) Forthe given compaunds:

o m o |
CH;
A- \EH— cl
s
CH;

B- CH;CH-CI

C- CHs-CHz-CH; -CH-CHs

cl

CH3
Which of the compound undergo fastest Sy reaction?
HF T 4TS TEY 99 Sy HFET HEn 2
[Question ID = 492][Question Description = 142_40_CHE_SEP22_Q42]
1. A [Option ID = 1965]
2. C[Option ID = 1966]
3. D [Option ID = 1967]
4. B [Option ID = 1968]
43) Select the incorrect reaction.
STeTd 3R I ol ©
[Question ID = 493][Question Description = 143_40_CHE_SEP22_Q43]
8]
[

O
1 _g_mg w.@_c_ma

[Option ID = 1969]

(8]
2 ? NaOF L
: @—C—CHa —_— ——C — ONa
[Option ID = 1970]
(8]
3. ' (I:I' NaOBr R
@—C— CHy ——» —C —ONa
[Option ID = 1971]
0

g |
4. @_élz_ cu, -Nao! ——C G



[Option ID = 1972]

44) Which one of the following is the strongest acid?
forgotferRaa 3 A wlol AT ASA gad 3ot 37

[Question ID = 494][Question Description = 144_40_CHE_SEP22_Q44]
1. N, N-Dimethylaniline
N, N-safemforcfior

[Option ID = 1973]
2. N-Methylaniline

N-aiférerforciior

[Option ID = 1974]
3. Methanamine

FoTRToT

[Option ID = 1975]
4. N-Methylmethanamine

ARCHREMROT
[Option ID = 1976]

45) Which of the preduct (majer) will be ebtained in the given reaclion?

& sffesm & 1 9 Swe (959) e 5
CH,NH
HNO,
—
0-5°C

[Question ID = 495][Question Description = 145_40_CHE_SEP22_Q45]
1.

?

[Option ID = 1977]
CH,0H

z.b

[Option ID = 1978]

3. OH

[Option ID = 1979]

" Q
[Option ID = 1980]

46) Choose the correct statement.
AT DA DI Joi-

[Question ID = 496][Question Description = 146_40_CHE_SEP22_Q46]
1. Monosaccharides are held together by peptide linkages to form disaccharides or polysaccharides.

HGIRIDASS LTSS Totl GRI JSD2 SISADASS Al UiclHDASS Foliad &

[Option ID = 1981]
2. Disaccharides are held together by peptide linkages to form Monosaccharide or polysaccharides.

SEIADASS WCTES Totl GRI 5D AlGIRIDRAISS A UichADASS Tt 3



[Option ID = 1982]
3. Monosaccharides are held together by phosphodiester linkages to form disaccharides or polysaccharides.

HGIRIDISS BIRBISEIC? Totl GRI JSD2 SEIADASS Al UiclNDATS Tolld 3

[Option ID = 1983]
4. Monosaccharides are held together by glycosidic linkages to form disaccharides or polysaccharides.

FHGIRIDASS FCMSABS! To¢l GRI JSDT SEADASS AT UIcHADATS Folle &
[Option ID = 1984]

47) Which of the following amino-acid is not an essential amino-acid?
forgarfeiRaa 3 21 dlat 2 Veloll siaet 3ra9aD Vol 3idcT oldl & ?

[Question ID = 497][Question Description = 147_40_CHE_SEP22_Q47]
1. Cysteine

RBrdlor

[Option ID = 1985]
2. Lysine

etrsiot

[Option ID = 1986]
3. Methionine

Fers3iiforor

[Option ID = 1987]
4. Histidine

Rfcdior
[Option ID = 1988]

48) Select the correct statement:
A8l DUl DI Yol :

[Question ID = 498][Question Description = 148_40_CHE_SEP22_Q48]
1. The maximum limit of nitrate in drinking water is 200 ppm.

diol arel ureft 3t airsee bt siftrpaet 2fam 200 ppm Bxdt 2

[Option ID = 1989]
2. Methane reacts with ozone to give formic acid only.

Aol 3IShol A 3ifdifcpRI DI Ddel BIidfd 3wl Seit &

[Option ID = 1990]
3. These days, the pesticide industry has shifted its attention to germicides such as sodium chlorate (NaClO3), sodium arsinite (Na3AsO3).

3MISIbel DleollonD 32Nl of Ul &Tol A deide (NaClO3), Afemer sulioic (Na3As03) S dlemueordi &I 3R Fereiialda a2 & &

[Option ID = 1991]
4. Most herbicides are toxic to mammals but are not as persistent as organochlorides.

siferepior onponelt Iorenf¥RI @ fere fadel 2l & cifdpol drd-aciRESA HI Wa Ferf o Bl &
[Option ID = 1992]

49) Select the correct statement for rubber.
IR D fere A& Dl Bl ol ©

[Question ID = 499][Question Description = 149_40_CHE_SEP22_Q49]
1. Natural rubber becomes hard at high temperature (>335K) and brittle at low temperature (<283K)

YIBfeIh 302 3cd ad ® BoR (>335K) s fowel am w2 (<283K) @seivpR 2l Sl &

[Option ID = 1993]
2. Natural rubber is insoluble in non-polar solvents.

YIpfer a2 srgdiRn eIt 9 srgetorofier 8lar 8

[Option ID = 1994]
3. Natural rubber has high water absorption capacity

YIfeies Fa2 &l 3T SieT IA9NNuT S9T BXet 3



[Option ID = 1995]
4. 15% of sulphur is used as a cross linking agent to manufacture rubber tyres.

CRR Jollol @ fo1e gep Blol dreft 302 & 3curcot 3 15% Acw2 @1 Wil PR derd @ o fipen smar &

[Option ID = 1996]

50) The pH of acid rain is around:

sigcitear auf @1 pH cemer 3iar 3-

[Question ID = 500][Question Description = 150_40_CHE_SEP22_Q50]
1. 5.6 [Option ID = 1997]
2. 7.1 [Option ID = 1998]
3. 2.0 [Option ID = 1999]
4. 6.8 [Option ID = 2000]






